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28. To find the answer to the above question, which of the given statements is not
nacessary 7
(a) A b B le) C id) D (e) None of these

29, In a certain code language, ‘nee muk pic’ means grave and concern’, il dic so
means ‘every body else’; and ‘fur muk so’ means Body and soul’. Which of the

following would mean ‘every concern’ 7 (Bank P.0. 1995)
(@} dic pic {b) ill nee c) pic nee
{d) Can't be determined (e) None of these

80, In a certain code language, ‘Ko Bi Pu Yo' means You are very infelligent’; Ya
Lo Ko Wo' means “They seem very intelligent’ ‘La Pu L&' mesns You can see’
and Sun Pun Yun Yo' means How {ntelligent she is. In that language, which
of the following words means ‘are’ ?
la) Ka (b} Bi (e) Le (d) Pu (e} Ya

41. If in a certain code, Bir l¢ noc’ means ‘green and tosty’ ‘pic nec hor’ means
‘tomato is green’ and ‘coc bir hor' means ‘food is tasty’. Which of the following
means ‘fomato is fasty’ in that code 7
{a) bir la hor {b) pic hor nac (2) hor bir pic (d} None of these

32, In a certain code language, kew xas huma deho’ mmmumw
hew fepo qua’ means ‘she sells toys' and ‘sul lim deko’ means T like apples’.
Which word in that language means she’ and ‘apples” ?

(a) xas & deko (b) xas & kew . (e) kew & deko
(d) kew & xas (e) deko & tepo )

33. If cinfo baoli tsi nzro’ means hermﬁagew&nm ‘mhi cinto keepi tsi oind’
means ‘her first love is Hierature’ and ‘oind jlﬂh: é!l:op.h means Tilerature
colleetion iz her hobby’, whlthwmﬂ'#mldmﬂnﬁi'ﬂm:'e?

(a) cinto (b} baoli {c) oind () geit

Guestions 34 to 38 (Bank P.0. 1988)
Innmmnmda'dbepr’mum'musnr!b{ue“ ‘sik hee' means red [Towers

and ‘pee mit hee' meens flowers are vegetables’

34. Hw:n?ﬂ‘ﬁﬂﬂm&htﬁlﬁlm&e? 1
(o) hee  (bysik e} be (d) Cannot be determined (e) None of these

35. How is ‘roses’ written in that code 7
fa) il {b) pee (c) be (d) Caonot be determined te) None of these

38. How is 'vegetobles are red flowers” written in this code 7

¢ (a) pee sik mit hee (b) sik pee hee be e il E:ii.' mit hee
"} Cannot be determined {e) None of these
ANSEWERS

1. (e} : In the second and third statements, the common code word is ‘sen’ and the common
word iz But’. So, ‘sen” means hut”

2. () ; In the first and second statements, the common code words ‘nes’ and ‘see’ mean ‘are’
and ‘you' So, in the second statement, the remaining code Ble’ means ‘where’.

%. (b} 1 In the firsel and second statements, the commeon code word is ‘met” and the common
word is ¥s5" So, ‘mot” means s’
In the second and third statements, the common code word is Bay” and the common
word is Hancing”. So, baf’ means ‘dancing’.
Thus, in the second statement, ‘min’ means good",
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d.le):

B (al:

6. fa):

T.de):

8. (d):

B, {d}

10, ie) :

1)y

12 {a) :

18. ia) :

14. (d} :

Reasoning
In the first and second statements, the common code word is rps’ and the common
word is ‘morning’. So, ‘rps’ means ‘morning’
In the first and third statements, common code is ‘ski’ and the common word is ‘nice’
S0, wki’ means ‘nice’
Thus, in the first statement, T’ means Sunday’
In the first and second statements, the common code ward is ‘nie’ and the common
word is ‘some’. So, 'nie’ means ‘ome’
In the first and third statements, the common code word is ‘pie” and the common
word is good”. So, pie’ means jgood’,
Thus, in the first statement, 'bi" means jokes’
In the firet and second statements, the common code word is ‘met” and the common
word iz harmfud’ So, ‘not” stands for harmful’
In the second and third statements, the common code word is ‘dor” and 'I'.l:mmmmm
word is ‘aooid’. Se, ‘dor’ stands for ‘sroid”
Thus, in the second statement, ‘wog’ means Tabit’
In the first and second statements, the common code word i3 gnr' and the common
word is Clympic’ Se, gnr’ means Hympic',
lnrhe-mﬂundﬂurdmumnu the common code is "‘IN Mthﬁmn word
is games’ 8o, hyte’ means pomes”
Thus, in the second statement, 'emf " means ‘summer’,
In the first and third statements, the mmmnnﬂﬂ.i q,ts!&il fperu’ and the commen
word is fine. So, peru’ means ‘ﬁ.me
In the nmndmdtﬁrdmummh-mmnhwm is iz and the cotmon
word I8 ‘slear’, Bo, Tisa' means ﬂﬂr'
Thus, in the third statement, 'doim mummr
In the first and second statements, the eommoan code word is ‘dan’ and the eommon
word is ‘house’, So,dan’ stands for house’
In the second and third stetements, the common code word is fir, So, ¥’ stands for 1
Thus, in_the mn&mnn %on” stands for good'.
In the socond and third statements, the sommon code words are Pe’, Mink' and
‘May" and and the commen words are ‘are’, ‘not’ and ‘ripe’
8o, in the third statement, NVue' standa for ‘mangoes”.
In tha first and second statementa, the common code word is ‘Kun' and the common
word is Dogs’. So, ‘Kun' means Dogs’
In the first and third statements, the common eode word is Tom' and the common
waord ia ‘are’ So, Tom' means ‘are’
Thus, in the first statement, ‘Sud’ means harking’
In the first and third statements, the common code 'm:urd is fin' and the common
word is frwit. So, fin' stands for Yrui'
In the second and third statements, the common code word is ‘sig’ and the commaon
word is Tily" So, ‘sig’ stands for Tily'
Thus, in the third statement, Ton' means ‘and’.
In the first and second statements, the eommon cods word is finge’ and the commeon
word is flower’. So, tings" stands for flower’
In the second and third statements, the common code word is ‘mst’ and the common
word is ‘sweet’. So, ‘mat’ stands for ‘sweer’
Thus, in the second statement, rho' stands for frogrance'
We can find the code for food" “‘ﬂmﬂuﬁrﬂtﬁdmdlhhmmuﬂw.mﬁnﬂ

the code for hot’, we need the code for Bring” which cannot be determined from the
given information.
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15. ib};

18. {c) ;

17. (e :
18 (b} :

18. (c) :
0. () :

2L (b) :
22. (e} :

23. ()
24 (d) :

25. (b -
28. {a):

28. {a) :
28, (d)

30, (b} :

In the first and second statements, the common code word is 'nre’ and the éowmon
word i ‘down’ So, nro’ means ‘down’.

In the second and third statements, the common code word is ‘bei’ and the common
word is he’. So, bei’ means e

Thus, in the second statement, 'mit’ means gors,

In the first and third statements, the common code word is ‘na’ and the common
word is ‘are’ So, ma’ stands for ‘are’

In the second and third statements, the common code word 18 ok’ and the common
word is Bad’. So, Tok' stands for bad’

Thus, «in the third statement, tim’ standa for “they’

Since all the statementa have bee: used to find the answer, so none of the given
siaioments can be dispensed with.

In statements B and C, the common code word is ‘re” and the common word is
‘summer. 5o, ‘e’ megns ‘summter’

Clearly, both statements A and D are superfluous.

In statements A and B, the common code word 18 ma’ and the common word (s
‘water’, So, ‘na’ means ‘water.

In statements B and D, the common code word ia o’ and the common word is Tife®
o, ‘o’ menns Tife’

Thus, in statement B, tod’ represents s’

Clearly, statement C is not necessary and hence can be dJ.l-]:reﬂEﬁ 'mﬂt.
lnmtamenh.& and B, I]Hmumda word is ‘zei’ mdﬂhmwarﬂu ‘good”,
S0, ‘zci’ stands for ‘good.

In statemants A and D), the common code word is ‘das’ and the common word is
Jirele'. So, ‘das’ stands for Tirtle’

Bo, in (A), ‘mxy’ means frock’

Clearly, statement (T} is nol requised,

In statements (A) and (B), the common code word iz ‘pod” and the common word ia
‘bey’. Bo, pod’ stands for Doy’

In statemenis [Al.lh,d Cﬂl the commen code word is oo’ and the common word is
‘very' S, jeo' stands for ey,

8o, in (A}, e’ stands for Sright’

Clearly, statement (C) la'not required and can be dispensed with,

In the m_lﬂ_mﬁﬂ statements, the common code woerds are &’ and ‘'ma’and the
common woeds are s and playing’ So, &' and ‘ma’ are the codes for i’ and plaving
In the'sesond and fourth statements, the common code word is ‘kap’ end the commen
word I8 tennis’ So, %op” stands for tennis’

“Thus, in the second statement, ‘fa’ stands for ‘Asha’.
¢ In statements (B) and (C), the commaon code word i3 Tim" and the common word is

fnowledge’. e, Tim" standa for ‘krocledge’

In statement (B} and (D}, the common cede word #s ‘Bis' and the common woerd s
‘sesk’ So, Hiz® ftanda for ‘seeh’

8o, in (B), ‘Nok' stands for ‘Always

Clearfy, statement (A) ia not required.

Proceeding as in hbove ql:llillbﬂnl the code for ‘every’ is either W' or ‘dic’ and the
code for ‘concern’ is either ‘nee’ or pic’

In the first and second statements, the common code words are ‘Ko’ and Yo' and
the common words are ‘very’ and intelligent’. 3o, Ka' and Yo' are the codes for very’
and ‘intelligent’.



3L {c):

32. (c):

3. 10):

4. (b} :

35. ld) :

38. (a) :

Reasoning

In the first and third statements, the eommon code word is ‘Pu’ and the common
word is You' So, Pu’ stands for You'

Thus, in the first statement, ‘Bi’ stands for ‘are’

In the first and second statements, the common code word is nae’ and the common
word is ‘green’. So, nac’ stands for green’

In the second end third statements, the common eode word is fior’ and the common
word is 5" So, hor’ standa for ‘is'

8o, in the second statement, ‘pic’ means tomato’. In the first and third statements,
the common code word is "hir' and the common word is fasty’ So, 'bir’ stands for
‘tasty’

In the first and second statements, the common code word 18 Bewr’ and the common
word is ‘she’. So, hew’ stands for ‘she’,

In the first and third statements, the common code word is ‘debo’ and the common
word is ‘apples’. So, ‘deko’ stands for ‘apples’ "
In the first and second statements, the common code words are ‘cinto’ and ‘tai’ and the
common words are fer’ and i’ So, tinto’ and ‘tsi” are the codes for 'i'wr’and s’
In the second and third statements, the common code words are ‘cinfo’, Wmdw
and thuwmwuﬂlm ther’, ‘is" and Titerafure’

Now, cmﬁa'lﬂﬂh'lﬂﬂul‘w ther' and s’ So, ‘oind” ﬂ.'n& for literature’
hthnmmdnﬂthﬂlhhmnh.thummm&hdis ‘hee’ and the common
word is flowers’ So, %hee' stands for fTowers’

Thus, in the second statement, 'sit’ stands for red.

Since from the given information, wo ean.only find the code for ‘are’ in the first
statement, it nmntbademminnibh:ﬁﬂﬂ' remeining two codes for ‘roses’
Clearly, the required code will mndﬂ#ft.hﬂ same codes as in the third statement
with the code for ‘red” added to i.

TYPE 6: MIXED NUMBER CODING

In this type of questions, a few groups of numbers each coding a certain short
message, are given. Through a comparison of the given coded messages, taking two
at a time, the candidate is required to find the number code for each word and then
formulate the code for the message given.

“Ex. 1. Tna certain code, 786" means ‘study very hard’, '058' means ‘hard work pays'

Ex. 2,

and ‘645’ means Study and work’. Which of the following is the code for
‘very" 7 (B.BLP.O. 1994)
{a) 8 by & (e T {d) Can't be determined (e} None of these

In the first and second statements, the common word is hard” and the
common code digit is '8". So, '8’ means hard”

In the first and third staternents, the common word is *sfudy’ and the common
code digit is ‘6. So, 6" means ‘study’. ‘
Thus, in the first statement, ‘7’ means ‘very’. Hence, the answer is (),

If in a certain eode language, ‘324' means 'Light is bright', ‘629" means ‘Girl
is beautiful' and ‘4758' means 7 prefer bright clothes', which digit means
‘Light" in that language 7

{a) 3 {h) 2 {c) 4 d) 7 e} 5
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Sol.

1.

EI‘

10.

In the first and second statements, the common word is 15" and the common
code digit is ‘2", S0, 2" means s’

In the first and third statements, the common word is Bright' and the
common code digit is ‘4. So, ‘4’ means ‘bright’.

Thus, in the first statement, ‘3" means Tight’. Hence, the answer is (a).

| EXERCISE 4H |
In a certain code, ‘37" means ‘which clasz’ and ‘583" means ‘casle and class’
What iz the code for ‘caste’ 7 {Bank P.O. 1693)
(a) 3 by 7 ic) 8 id) Either 5 or 3 {e) Either 5 or 8

In a certain code langunge, ‘743 means ‘mangoes are good’; 657 means ‘el good
food' and ‘934" means ‘mangoes are ripe’. Which digit means ‘ripe’ ir. that
language ? (Hotel Management, 1993}
{a) 8 (b) 4 e} B a7
In a certain code language, ‘134’ means good and tasty’; '478' means. ‘see good
pictures’ and ‘729" means pictures are faint’. Which of the ful]uwh:gﬁg& stands
for ‘see’ ?
(a) 9 (b) 2 (e 1 @8
In a certain wdﬂ,ﬂ?'mam'qudrwmrpet ‘Eﬁﬂ'mﬁuﬂmw
and ‘234’ means ‘one red carpet” Which digit in that ¢ode means ‘dust’ 7
(z) 2 (b) 3 c) & ) 6 (e) Can't say

a8 (R.B.L, 1980)
In a certain eode language, ‘123' means Brighs little boy', '145' means ‘tall big
My,;uﬂ%m'm‘bmunﬁdlﬂﬂ;ﬂmw%ch digit in that language means
bright’ ?
{a) 1 (5)3 {e) 4 d) 8 {e) None of these
In a certain code " means ‘you are good’; ‘637 means ‘we are bad’ and ‘358
means good Md!ﬁm? Which of the following represents ‘and’ in that code ?
(a) @ ) 5 (c) 8 (d) 3

(Railways, 1964)

In a certain code, ‘467" means ‘leaves are green’; *485" means greznugaod"md

639" means ‘they are playing”. Which digit stands for Teaves’ in that cods ¥

@) 4 ih) 6 ey 7 (d) 3 {e) None of these
(Bank P.O. 1981)
In a certain code language, ‘851" means good sweet fruit’, “783" means good red
rose” and ‘341' means ‘rose and fruit’. Which of the following digits standsfor
‘sweet’ in that language 7 (B.b.RL.B. 1998)
(a) B (b} b e 1 (-3 {e) None of these
In a certain code language, "479" means ‘fruil (s sweet’, ‘248" means ‘very sweet
voice” and ‘637" means ‘ea! fruil daily’. Which digit stands for %s’ in that code 7
(=) 7 (b) 9 (c) 4 () Can't be determined {e) None of these
(B.S.RLB. 1895}
In a certain code language, ‘123" means ot filtered coffee’; *356' means ‘very hot
day' and ‘689" means ‘day and night. Which digit stands for ‘very’ ?
(@) 9 b5 (e} B {d) 2 e) &
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1. In a certain code, “266' means red colour chalk’, ‘589" means ‘green colour fAower”
and ‘245" means ‘twhite colowr chalk’. Which digit in that code means ‘white” ?
(a) 2 {hy 4 ic) 5 {d} Can't be determined {e) None of thess
(Bank P.0O. 1881)
12. In a certain code language, '526" means shy is blue’, ‘24" means Blue colour’ and
‘436" means ‘colour is fun’. Which digit in that language means fun’ 7
fa) 5 ib) 4 £ 3 d) 2 (e} None of these
13. In a certain code language, *381' means Hari is honest’;, '162' means ‘Shashi is
intelligent’ and ‘948" means ‘Hari should go'. Which digit in that language means
‘honest” 7
{a) 3 b8 ic) 1 ) 9 {e) None of these
14. In a certain code, ‘263" means books are old’; ‘546" means ‘man is old’ and "378'
means ‘buy good books. What stands for ‘are’ in that code ? (8.B.LP.O. 1590)
{a) 2 (b} 4 e} 5 id) 8 {e) 8 |
15. In a certain code, ‘976" means ‘Throw away garbage'; ‘528' means ‘Give sway
smoking” and ‘213" means ‘Smoking is ﬁ:r.nﬂﬁlf’ Which digit in that code mesns
‘Give' 7
(a) 5 e (c) 8 (d) 3 (e} Nene of these
Directions (Questions 16-17) :
In a curtain code, ‘289" means mﬂfmmﬂﬁﬂ'mmmmﬁ and
‘85" means ‘wall paper’
16. Which of the following is the code ﬂl‘ ‘tea" 7

la) 2 (b) 8 {c) Either 2 or &
{d) Either 2 or 7 {e) Bither 7 or 8

17. Which of the following is the oode for ‘paper’ ?
(@) 2 by 8 e g

id) Can't be Mem::d (e} None of these
Directions (Questions 18-19) : .
(A} 134" means You are well’
(B) 758" means Sthey go home';

iy 'ﬁﬂ" means ‘we are home" (Bank P.O, 1994)
18, Whmh‘»nf the following represents ‘they' in that code language ?
(@) & b) 7 () 3 d) B (e} Data inadequate
19. Which of the statements can be dispensed with while answering the above
guestion 7
la) & only (b) B only {c) A or C only
@) B and C only e} None of these

20. In a certain code language, ‘617" means ‘sweet and hoi’; *735' means ‘coffee is
sweet’ and 263" means tea is hot'. Which of the following would mean ‘coffee is
hot"?

{a) T31 (b} 536 (e} 367 d) 7158 ie) None of these

21. In a certain code langnage, Ba, 3b, 7' means Truth is Kiernal’, ‘e, 9a, 8b, 3a’
means ‘Enmity is not Eternal’ and ‘%, 4d, 2b, 80" means ‘Truth does not perish’,
Which of the following means ‘enmity’ in that language 7 (B.B.LP.O. 1881)
(a) Ja {b) Te i) 8b (d) 9a (e) None of these
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1. lel:

Z la):

& (d):

4. (e):

6. le) :

6, (c):

T.4c):

B b

9. (b :

10. (e}

ANSWERS

In the given statements, the common code digit is "3’ and the common word is ‘elass’

So, ‘3’ means ‘closr’

Thua, in the second statement, either 5 or 8§ stands for ‘caste’

In the first and third statements, the common code digits are ‘4’ and ‘3’ and the

common words are ‘mangoes’ and ‘are’

So, ‘4" and "7 are the codes for ‘mangoes’ and ‘are’

Thus, in the third statement, ‘9 means ripe’

In the first and second statements, the common code digit iz ‘4" and the common

word is ‘good”. So, ‘4" stands for Food”.

In the second and third statements, the common code digit is ‘7 and the common

word is pictures’ So, 'T' means pictures’

Thus, in the second statement, ‘8’ means ‘mee’

In the first and second statements, the common code digit is ‘2 and the common

word is tarpet’ So, ‘2 means corpet’

In the secand and third statements, thewmmanwded:glt:l‘ﬁ'nﬂﬂgmm

ward ig ‘one’ So, ‘6’ means onel

Therefore, in the second mm ‘5’ means 'dust’ ;

In the first and second statements, the common code digit 15 ‘1’ and the common

word is ‘bay’. Se, 'I' means bey’.

In the first and thl.rtlﬂhmlntl; the mmmnu&de ﬂ‘lt i8 ‘Eln'ﬂﬂ the common word
ia Tirtle” Bo, ‘3" means Yittle! _

Thus. in the first statemaent, “2' means briﬁl'

In the first and third statements, the common ﬁiﬂa digit is ‘5" and the common word

is good'. Bo, '5' means jgood"

Inﬂmmdmdthirdltqmthammonmdndmtu " and the common

word is ‘bad’. Sa, ‘3" mww

Thas, in the third statement, ¥ means ‘znd"

In the ﬁnt'ﬁd‘ihuﬁintﬁmnta the common code digit is ‘4’ and the common

word nwﬁu ' means green’.

In I:hﬁmtmd third statements, the common code digit is '6' and the common word

is are’ So, ’G':nh:un ‘are’

Thus, in the ﬂrﬂ statement, ‘7" means Teaves’

In the first and second statements, the common code digit is '8’ and the common

ward is good’. So, '8 means ‘good”.

In the first and third statements, the common code digit is ‘1’ and the commeon word

is fruit’. Se, '1' means ‘fruit’

Thus, in the first statement, ‘5 means ‘sweet’

In the first and second statements, the common code digit is ‘4" and the common
word is ‘sweet’ So, ‘4" means ‘sureet’

In the first and third statements, the common code digit is ‘7' and the common word
s fruit’, So, ‘T means fruit’

Thus, in the first statement, ‘9’ means ‘s’

: In the first and second statements, the common code digit is ‘3 and the common

word is ‘hot’. Bg, '3 means ‘hot"

In the second and third statements, the common code digit is ‘5 and the common
word is ‘day’. So, ‘5’ means ‘day’

Thus, in the second statement, '8' means very’,



11. (b} :

12. ic) :

14. (a) :

15. (c) ;

Reasoning
In the second and third statements, the common code digit is ‘6’ and the common
word iz tolour’ So, ‘5’ means rolour’
In the first and third statements, ‘5" means ‘colour. The other common code diglt is
‘2" and the common word is chalt’ So, '2° means chalk’
Thus, in the third statement, ‘4’ means ‘white’
In the first and third statements, the common code digit is 8’ and the common word
is ‘iz’ 8o, ‘6 means a"
In the second and third statements, the common code digit iz ‘4’ and the common
ward ia ‘colour’. 5o, '4" means ‘cofour’
Thus, in the third statement, 3’ means fun'

: In the first and second statements, the common code digit 15 'l and the common

word i= ‘is’. So, '1' means ‘is'

In the first and third statements, the common eode digit i3 '8 and the common word
is Hari'. So, '8 stands for Hari'

Thus, in the first statement, "3’ means %honest’
Iutheﬁrlt.andmudltltmmta themmmmmdedmtm‘ﬁ'anﬂthm
word is ‘old’. So, ‘5" means ‘old’.

In the firat nndt.hlrdstlt.amlnt.u the commen code digit is '3’ and the mun.mrd
is ‘books’ So, ‘T means books’

Thus, in the first statement, ‘2" means ‘are’

In the first and second statements, the common code digit is '8 and the common
word is ‘away’. So, ‘5 means ‘wway’

In the second and third statements, themmm&&ltla”ﬂ’andtimmmm
wordu'amﬁg Bo, ‘2" means '
Thus, in the second statement, ‘B’muﬂwﬁn

Questions 18-17

18. (e} :
17.(b) :

Inth«lﬁrstnndmndmtemant&ﬂte common code digit is ‘2" and the common
word is from’ So, ‘ﬂ'iu‘lique far Yrom'"

Int-heﬂnu.ndl]i:ﬂ.m the common code digit is ‘8" and the common word
iz ‘paper’. 8o, ‘Bis Mﬂﬁ'ﬂﬂ#"

Clearly, mhm&-mummtfmthu"f‘mﬂﬁ'ma} be the eode for fea”

_As shown above, ‘B is the code for ‘poper’

Guestions 18-18

AB. (e} :
:li- (@) :
20, (b)

21. ()

“ﬁﬂkﬁ.ﬂd the code for ‘home’ from the second and third statements,

Fa;rﬁndmg the code for ‘they’, we need the code for ‘ge’ which cannot be determined
from the given data.

Data inadeguate

Clearly, statement A is not necessary.

In the first and third statements, the common code digit 15 ‘8" and the common word
ia ‘hot'. So, '6' means ‘hot’

In the second and third statements, the common code digit is ‘3 and the commeon
word is ‘s, So, '3 means x| .

In the first and second statements, the common code digit is *7T" and the common
word is ‘sweet’

8o, in the second statement, ‘5" means ‘coffes’

Clearly, "536" would mean ‘coffee i3 hat'.

: In the second and third statements, the common code is 9a’ and the common word

is ‘nat’, S0, Yo’ means ‘not’,

In the first and second statements, the common codes are 7c' and “3a° and the
common words are s and ‘Eternal®

8o, in the second statement, ‘%h' means ‘ermity’




Coding-Decoding 209

TYPE 7 : DECIPHERING INDIVIDUAL LETTER CODES BY ANALYSIS

In this type of questions, certain sample words are given along with their codes.
The candidate is required to decipher individual codes for. different letters by comparing,
taking two words at a time, and then answer the given'questions mccordingly,

. Example : Below, in column I, are given some words. These have been
translated into a code language. The code equivalents of the words in column
I given in column IT are not necessarjly opposite to the corresponding words.
Moreover, the codes for the different leiters in each word have also not been
Fiven in the same order as these letiers occur in the original word, Study
the two columns carefully and then of the four alternatives given in each
question, find the one that has the code equivalents of the letters of the word

given in the guestion. This is your answer. (Hotel Management, 1908)
Column I Colomn 1T
DELIBERATION apmrgs
CONSIDERATE ceehlmo
GHOSTLIEE cfhmogqrx
WDRLDL‘!’ cdgmgrsxz

1. SOLACE _

(@) aedpgr (b) acemoq {e) acdmpq (d) demopg
2, KNIGHT

(a) fgrsxz (b) gprsxz Ae) fhmpgr (d) ghrxyz
3. WORDY

{a) fhlmq (b} ehlma {¢) efhlm {(d} adeop
4. NOTICE '

{a) acdegs (B) afngsz (¢) efhpgs () fghpqr
5. BLMT

flﬂ Tkpqz (b) hmpqz (c) cmpqs {d) ckmpa

ﬂuluﬁnl:Wu first find the exact codes of the given wordsa,

DELIBERATION is a twelve-letter word. So, its code is cefkmopqgszz.
CONBIDERATE is an eleven-letter word. So, its code is adefmopggss,

GHOSTLIKE and KNOWLEDGE are nine-letter words and the codes are cfhmoqqrx and

cda;mqruz ENOWLEDGE has two E's and so its code will also contain two identirsl letters.
Thus, ita code is cfthmoggrx.

80, the code for CHOSTLIKE is cdgmqrsxe,

WORLDLY iz & seven-letter word. So, its code is ccobilmo,
ROCHKET is a six-letter word. So, its code is aemrgs”
Rearranging the words and their codes, we have :

DELIBERATION cefkmopgqszs
 CONSIDERATE adefmopggaz

GHOSTLIKE cdgmqrexs

WORLDLY ceehlmo

KENOWLEDGE efhmogqrx /

ROCEKET

asmrgs
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The common letter in the given words is O and the common code letter is m. S0, m
stands for 0. :
In WORLDLY and ROCKET, the common code letter m stands for O. The other common
eode fetter & stands for K.
In GHOSTLIKE and WORLDLY, the other common code letter ¢ standa for L.
In DELIBERATION and WORLDLY, the common code letters, ¢, ¢ and m stand for L, B
and O respectively. The other common code letter o stands for D
In WORLDLY and KNOWLEDGE, the common eode letters, m, ¢ and o stand for O, L
and [ respectively. So, the other common code letter h stande for 'W.
In KNOWLEDGE, there are two E's and the letter g occurs twice in the code. 8o, g stands
for E.
[n ENOWLEDGE and ROCKET, the common code letters m and q stand for O and E
respectively. So, the other common code r stands for Ko
In GHOSTLIKE and ROCKET, the common code letters, m, r and q stand for O, K and
E respectively. 86, the other common code letter 8 stands for T.
In ROCKET, the remaining code letter a standa for C.
In GHOSTLIKE and ENOWLEDGE, the common code letters m, ¢, r and g stand for 'ﬁ,
L, K and E respectively. So, the ether common code letter x stands for G ’
In KNOWLEDGE, lh@mﬂnin’mda lotter f stands for N.
In DELIBERATION and GHOSTLIKE, the common code letters q, < nqml m etand for
E. L, T and O respectively. So, the common code letter z stands for L
In CONSIDERATE and GHOSTLIKE, the common code: ].eﬂ:@ m, z, q and s stand for
0, 1, E and T respectively. So, the common code letter d stands for 8.
In GHOSTLIKE, the remaining code lauar'nm for B
In CONSIDERATE. the remaining code letter P Mﬁfﬂr A
In DELIBERATION, the remaining code letter k stands for B.
The information can be sumn::lrllpd as below
[(‘uﬁlrlm_e[c o | W W | s | & | x| fizidlg|plk
[Letter [O | R | L | D W YA/ ®IK|T|C|G|N|T|S|H[A[B
L. ic): The mdlﬁa;ﬂhi.fdrﬂum.fmlulac.fnr Aisp for Ciza and for E is q.
So, the code for SOLACE is dmepag or acdmpy.
2. {a) Thgandg»futﬁnsr,forNuffnrlu:.,l‘nrﬂmx,furl-lmr.andfur'l‘ul.
S, the code for KNIGHT is rfzxgs or fgrsxz.
Aok} : Theeode for Wish, for Oism, for Rise, for Disoand for Y is L
- So, the code for WORDYHs hmeol or ehlmo.
4. (b}: The code for N is f, for O is m, for T is s, for 1 is =z, for C is a and for E is q.
So, the code for NOTICE is fmszag or afmgez.
5. (d): The code for Bis k, for L is ¢, for O ia m, for A is p and for T is s.
8o, the code for BLOAT is kemps or ckmps,

| EXERCISE 4i |

Directions (Questions I to 10) : According to a code language, words in
‘capital letters in column I are written in small letters in column II. The
letters in column Il are jumbled up. Decode the language and choose the
correct code for the word given in each gquestion.

Column Column I1
(1) CURS (A) opkif
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17. 8 (@ k b p e} v (d} None of these
18. T fala (b) b {c)e (d) None of these
Directions (Questions 19 to 25) : Below in column I are given some words
“and in column IT are given their equivalents in some code language. Words
in column Il do not appear in the same order as in column I. Moreover, the
order of letters is also jumbled. Decode the language and choose the correct
alternative which is the equivalent of the given word,

: Column 1 Column 11
(1) TAFE (A) moij
(2) COUP {B) Ihhpok
{3) TIE {C) nls
(4) ROTATE (D) nhpk
(6) SAY (E) nkpl
(6) TREAT {F) msr
(7) YEAR (G) khlph
(8) BIP {(H) hrp
(9) TYRE (1) pmih
18. S0UP )
(a) oamj (b) sajm {¢) osjm () somj {e) joms
(a) Ihpjk {b) lihpr (e} pkjih “{d) jkiph (e} kplih
21. TRACE | :
(@) hiklp (b) hikip {e) hilip (d) pikih (e) pklih
22. POSSESS
{a) msoopoo (b} mosspss {c) porrprr {d) mpiioii (e) mpjjojj
23. CREATE b,
(a) ljhkhn (5) jknthn {¢) jiphip (d) ikplhp (e) ilpkhp
24. EASY \ :
tu}]npu (h) lpns {e) pisn (d} pnls (2) snpl
25. CURE
(a) ijkp (b) pikj e} ikpj (d) kipj (e} jikp

Directions (Questions 26 to 35) : In column I, some words are given, In
column II, their codes are given but they are not arranged in the same order
in which they are in column I. Study the letiers in both columns and find
out the code to the letter given in each of the following questions.

(AAD, Exam, 1888)

Column I Column 11 Column I Column 11
(1) BID (A} norw {8 ROSE (H) iotx

(2} BAT {B) empsa (9) VEX (I} aceenoww
(3) BAD (C) lwz (10) WAYE () eln

i4) CHEAP (D) aegjmng (11) NAMELY (K) befms
{5) HILL (E) kms (12) FAMILIAR (L) moty

{6) PORK {F) emrux {13) HAZY (M) elz

{7} QUOTE (G) ehgr (14) VAGUE (N} dimtua



Coding-Decoding

211

(2) INCUR (B) fbpoc
(3) TALLY (C) ughvg
i4) CADET {D) rkufh
(5) DRIP (E) rotc
(6) TOIL (F) juge
(7) VARY (G) vwoh
1. DAIRY :
{a) cvohr (b) ghvbf (c) retve (d) whtou
2. TODAY
{a) rjuyh (h) kjuvh ic) rjuvh (d) rjuvk
3. PIECE ]
{a) fvuyr (b) fitek te) fhocv id) frgkp
4. CIVIL i
" (@) gfwee (&) gheww (c) ggwie (d) gwife
5. SUSTAIN
{a) hibuepi b) hkﬂjbk (c) hwajfirw ) w
6. TRIED _ a
(a) ukfhr (b} ubove {¢) ukhbp (d) ukore
7. RACE |
(a) kovp (b) kbef () kifo (d) krbh
8. ENVOY N
{a) kbjwu (b} jvbkw (e) hjbvw {d) vbpuk
9. RIVET 4 :
{a) wekou (b} ckwin 1) wekov (d) kcvow
10. SUN o )
(a) pih {B) bih (¢) pib (d) ikh

Directions (Questions i1 fo 18) : In column I below, some words are given.
In column II, their codes are given but they are nol arranged in the same
order in which they are in column I. Study the letters in both the columns
and find out the code to the letter given in each of the following questions,
from among the given alternatives, {(A.AO. Exam, 1988)

Column I Column IT

(1) SOUND {A) abi

(2) ADDRESS (B) cjmv

(3) CRUX (C) ikmop

(4) NET (D) ijktv

(5) CRONY (E) jkgotv

{6) CROWDY (F) blooppy
1. A {a}b By 1 (e} v {d) Mone of these
12. C  {a}j 5k 1 {d) Mone of these
13. D (@ k &1 (c) m () Mene of these
4. N (a)a (b) e e q (d) None of these
15 0 (&)i {b) ] c) k {d) None of these
1. B {a)o B p ch v {d) None of these
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35. Z ({a}h

(b} u
by z
(h) 2
)
b e
by r
Bt
{b) j
ib) a
by g

ic) e
{e) u
(el u
e} w
(£) b
ie)
e) s
ie) 1
e) ¢
el

id) z
() p
(d) k
(d} ¢
) 3
(d) s
(d) e
(d) k
i) d
id) 1
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Directions (Questions 36 to 40) : According to a code language, words in
codumn | are given in column II. Decode the language and choose the correct
code for each of the words given in the following questions. The létters in
column IT need not appear in the same order as they do in column [.

Column I
(1) CHIEF
(2) NIGHT
(3) THIRD
{4) MONEY
5) WOMAN
(6) WORKS
{7T) BASIC
(8) HENRY
88.- AUGUST
{a) hhatdb
87. BOARD
{a) wivgz
38. JUNIOR.
(@) jlwavf
39. DIGEST
(@) kwghgy
40, DEQF
{a) tgnz

Column 1T
(A) kngwy
(B} akwijh
(C) kvhwg
(D} njumz
(E} zgims
(F) etvza
(G} diwsqg
TH) jvunk

(h) listah

b) clogwj

(b) angwht

{b) knty

{ olumn 1
(9) BASED
(10) PSYCO
(11) TOWEL
112) FALSE
i13) num
(i STOCK

-T-m} TRAIN

le) altpas
() sdwgz
(e) Nogve

tc) aknth)

Yall

g i YENS

Column H
(Y] gstod
(J) qutzh

(KY nzehe
L) ynest

(M) evgue
(N) toghz
(D) swhyj
{d) netddz
Id} gadvs
tel) lifzeo
td) gongwt

(ed) wygsd

_ Directions (Questions 41 to 45) : In each of the following guestions, a
word has been written in four different code languages. One of the code
languages is common to all the five guestions. The code equivalent of the.
wrd in that code language is your answer in each guestion.

(Hotel Management, 1997)

41. CLUSTER

{a) YHPQDXE
42, LIGHT

WD
48, TRIVIAL

{a) SQHXHCK

(b) BRTUSDQ

(b) KHIGS

{b) DEVCVZH

{c) BITSVEQ

{c) CIMKN

{c) VOHXHAI

(d) XFINOGQP
(d) KJHGS

(d) SQIUJBK
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44. NUMBER

{a) ZIAWQP () MTOADG ic) GPTMXE (d) MVNAFQ
45. BRAVE

{a) AQBUF (5) WRYJQ ic) DOAXE {d) MEZCX

ANSWERS

Questions 1 to 10
In CURSE and VARY, the common code letier is o and the common letter is B
% Bo, o stands for R
In CADET und VARY. the common eode latter is h and the common letier is A
8o, h stands for A
In TALLY and VARY, the common code letier b means A. The other common code letter
is v and the other common letter is Y. So, v stands for Y.
Thus, in VARY. the remaining code letter w stands for V.
In CADET agd TOIL, the common code letter is w and the commeon lethr T
Bo, u stands for T. ¥ S U
In INCUR and TOIL, the cemmon code letter is ¢ and the commeon letier iz L
S0, e stands for L

In TALLY and 'H‘.IEIL, the eommon code letter w atan*'ﬁ t. Thﬁla‘;h:rr common code
lefter is g and the other common letter is L. So, g stands for L.

Thus, in TOIL, the remaining code letter j stands for Q.

In CADET and DRIP, ‘the eommon mﬂhﬁrﬂrmﬂﬂﬁmmhﬂ-

S0, r stands for D,

In DRIP, o stands for R, e stands for L 8o, the remaining code letter t stands for P.

In INCUR, CURSE and [‘.P.IEI’ thenﬁmmﬂudeleuarm!md the common letter is
C. 5o, f stands for C. |

in INCUR and CURSE, the commion code letters £ and o mean C and R respectively.

S0, the remai P ‘stands for U.

Thus,dh mﬁgﬁwﬁmg code letter b stands for N.

hwm aﬁdCLADET the common code letter [ means C. So, the other eommon code
letter k me&ﬂE‘

m i'lrﬂﬂﬁBE the remaining code letter i moans 8.

matiun can I:re uummnnuad as below ;

_Cu_dt"‘_'- o vy wlulelgljlrlt| T ip|b|k)i
_"l.aeu&r_R'ﬁ_. thels | L O D[P |[clUulN]|[E] S
1. fex) : ﬁumdrfarI:lwr.fwhirh.ﬁor[ue.fmﬂisnnndfar?iav.
B0, code for DAIRY ia rheov.
2 ic) ~The code for Tis w, for O inj, for Disr, for A is b and for Y is v.
So, the code for TODAY Is ujrhv.
3. tb): The code for Pis &, for | is e, for E is k and for C is L.
So, the ende for PIECE is tekdk or fkick.
d.{ay: The code for Cis £, for [ is e, for V iz w and for L is g.
So, the code for CIVIL is foweg or giwec
B.(a): The code for 8 ia L, for Uia p, for T s w, for A is h, for | is e and for N is b,
5o, the code for SUSTAIN is ipiuhcb or hibucpi.
8. id}: The code for Tisw, for Riso, for [ is o, for E is k and for D is r.
Sa, the code for TRIED is uockr or ukore,
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7.1¢) : The code for R ia o, for A is h, for C is [ and for E is k.
So, the eode for RACE is ohfk or khio.
8. (8) : The code for E is k, for N is b, for V is w, for O is j and for Y is v.
So, the code for ENVOY 18 kbwijv or jvbkw.
9. la): The code for R is o, for [ is e, for V is w, for E is k and for T is w
Sa, the code for RIVET is ocwhu or wekou,
10. (¢} : The code for 8 is i, for U iz p and for N is b.
So, the eode for BUN is ipb or pib.
Questions 11 to 18
Clearly, the only three letter word is NET. S, ita code is abi. The only four letter word
is CRUX. 8o, its code is cjmv. The two five letter words are SOUND and CRONY and codes
are ikmop, and ijktv. Clearly, CRONY has two common letters C and R with CRUX and the
lemursja.ndvmthemdefarf}lﬂﬂ[ar&mmmonmth the code ijktv. So, the code for CRONY
is ijktv and that for SOUND ie ikmop. The only six letter word is CROWDY. Su,illwde-b
Jkgnul The only seven letter word is ADDRESS. So, its code is blooppv. So, ruma;lu
words and their codes, we have :

NET abi -
CRUX cjmy

CRONY ijktv

CROWDY kgotv

ADDRESS blooppw

In NET and CRONY, the common code letter is § and the common letter is N.

So, i stands for N, .

In NET and ADDRESS, the common code letter is b and the common letter is E.

So, b stands for E. Thus, in NET, the remaining code letter a stands for T.

In CRUX and ADDRESS, hmwﬂelalurmvud the common®ietter is B

8a, v stands for B

In CRUX and CRONY, the common code letter v stands for B So, the other common
code letter j stands for C.

Inﬂﬂﬁfﬂinﬂﬂﬂm the common code letter is m and the common letter is UT

S0, m stands for U,

Thus, in CRUX, the remaining code letter ¢ stands for X.
2.In CRONY and SOUND, the common code letter i stands for N. So, the other common
:_-:mgklatt.ar k stands for O.

Thus, in CRONY, the remaining code letter t stands for Y.

‘In SOUND and CROWDY, the common code letter k means O. So, the other common
eode letter o stands for DN

Thus, in SOUND, the remaining code letter p stands for 8.
In CROWDY, the remaining code letter g stands for 'W.

In ADDRESS, the remaining code letter | stands for A
Thus, the information can be summarised as follows :

Code i b a v i m [ k t
Letter | N E T R C U X 0 Y D
11. (b) : Clearly, the code letter for A ia L
12 {a} : Clearly, the code letter for C is j.

13. id} ;: The code letter for D is o and none among the choices.
14. (d) : The code letter for N is i and none among the choices,

==
]
>
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18. (¢} : Tha code letter for O is k.
18. {e) : The code letter for R is v.
17. (b) : The code letter for 8 is p.
18. (g) : The code letter for T is a.
Questions 19 to 25

The only seven letter word is ROTATE. Bo, its code is Thhpok.

The: only five letter word is TREAT. So, its code is khiph.

The four words are TAPE, COUP, YEAR and TYRE and the codes are maij, nhplk,
rkpl and pmih. UP has one letter O common with ROTATE. So, its code is moij which
has only one code letter ‘o’ common with that of ROTATE,

TAPE has one letter P common with COUP. 8o, its code is pmlh which has one code
latter ‘m’ common with that of COUP. YEAR and TYRE have the codes nhpk and nkpl, the
common code lettera n, k and p standing for Y, E and R. Now in TREAT, the letter T appears
twice and in its code the letter h appears twice. So, h ia for T. Thus, the code for TYRE is"
nhpk and that for YEAR will be nkpl. .

The three letter words are TIE, SAY, SIP and the three letter codes afe nls, msr, hrp.
The code h* is for T, So, TIE is coded as hrp. S8IP has | common with TIE. Sy its code will
be msr. Thus, the code for BAY is nls. 1 ; "

Rearranging the words and thelr codes, we have :

SAY

BIP

TIE

YEAH

TYRE
-~ TAPE

Ccoup

TREAT khlp
ROTATE — Ihhpok

HSﬁYmdSﬂ,ﬁg‘mgpﬁirtmiliuﬂthlmmhmrilﬂ.

In SAY and TYRE, the common code letter is m and the common letter is Y.

SmnaMix?.Thul.mSA‘f the remaining code letter | stands for A

hﬂ?mdﬂ&emmnm&-hﬂrmrnndmamlﬂmml

rmﬁfgr].'l‘lml in SIP, the remaining code letter m atands for P.

-hmwm&mmmﬁnmdrluﬁwupmdﬂmmmmlaﬂﬂuﬂ

‘Bo, p stands for E. Thus, in TIE'the remaining code letter h stands for T.

In YEAR and TYRE, the comimon code lstters m and p stand for Y and E.

So, the remaining common code letier k stands for B

In COUP and ROTATE, the common code letter o stands for O.

Thus, in COUP, the remaining code letters i and j stand for C and U.

Thus, the information can be summarised as follows ;

Iﬂbd.au n 1 4 m‘p h k

i i

Letter | 8 | ¥ | A | 1 | P | B | R v | ¢

IEEH:Thumﬂufw&h:,ﬁrﬂi-n,hﬂﬂ]_gri:ndfn?h-.ﬂﬂhthut[naptmn,
i is nowhere mentioned. So, code for U ig j. Thus, the code for BOUP is sojm.

20. (e} : The code for R is k, for E ja p, for A is L, for C is i and for T is h. So, the code for
REACT is kplih.

EERETAF

ofe

3
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21.(¢): Theeode for Tia h, for Ris k, for A iz |, for C is i and for E iz p. So, the code for
TRACE iz hilip.

ﬂ.{b}:'Thamdal‘urPium.forﬂiln,fﬁrﬂiu:u.nﬂfhrEiupBndmmdnforPDﬁEBE
i6 mosspaEs.

23. (d) : The code for C ia i, for R iz k, for E iz p, for A 13 | and for T is h. Se, th-mdal'hr

« CREATE is ikplhp.
ﬂl.[el:ThmdaforEmp.fnrAiaqurSuumdlhr"fun.SathemdnfbrE.!.H‘quplm_
25. (a) : The eode for C iz §, for U is j, for R ia k and for E is p. So, the code for CURE is jjkp.
Questions 26 to 35

The only eight letter word iz FAMILIAR. So, itz code is nceenoww.

The only six letter word is NAMELY. So, its code is asjmmng. ;

The five letter words are CHEAF, QUOTE and VAGUE and the codes are emrux, befma,
afmtu. A is common to FAMILIAR, CHEAP and VAGUE. So, the common code letter e stands
for A and thus CHEAP and VAGUE have codes emrux and befms. So, the tode for QUOTE
is afmiu. VAGUE has two commen letters with QUOTE. So, its code is befms. Thus, the
code forCHEAP is emrux.

The four letter words are HILL, PORE, ROSE, WAVE, HAZY and the codes are nnrw,
emps, ehqr, iotx, and moty. Only HILL has a letter repeated twice. So, its code is nmrw.
WAVE has three letters common with VAGUE. So, its code is emps. The code for A s .
the code containing e and & code letter common with HILL is the eode for HAZY. Thus,
for HAZY is ehqr. Now the code having common letter with that of WAVE is the code
ROBE. So, the code for ROBE is moty. Thus, the code for 1is jotx.

mm:mmmmmmwmmmuﬁ-mh;mmmd
elz. VEX has two letters common with WAVE. So, its code is kms. BAT has a letter T common
w:thQUDT'Eh:hmﬂauﬂmlﬂhnlmmmmﬁﬂﬁmEu:tlmd-luih.
8o, the code for BID is lwe.

Rearranging the words and their codes, we have :

?3?3

BID Iwz

BAD alz

BAT elu

VEX kms

PORK intx

ROSE moty

HAZY ehgr 5
“WAVE emps

HILL ARrw-

CHEAP amrux

VAGUE befms

QUOTE dfmtu

NAMELY mejmng

FAMILIAR ACRETOWW !

In BID, BAD and BAT, the common code letter is I and the common lotter is B,

So, | stands for B. In BID and BAT, the other common code letter 2 stands for D.

S0, the remaining code letter w in BID stands for T and e in BAD stands for A

In WAVE and RO3E, the common code letter is m and the common letter is E.

Bo, m stands for E. In VEX and WAVE, the other common code letter 8 stands for V.
Thus, in VEX, the remaining code letter k stands for X.

In WAVE, the remaining code lotter p stands for W.

In PORK and QUOTE, themmmonmdalamrutudﬂwmmmletterlsﬂ Bo, t

stands for O.
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In PORK and ROSE, the other common code letter o stands for B

In PORK and CHEAP, the common code letter is x and the common letter is P, So, x
stands for P.

Thus, in PORK, the remaining code letter § stands for K.

In ROSE, the remaining code letter ¥ stande for 8.

In HAZY and NAMELY, the other common code letter q stands for Y.

In HAZY and HILL, the common cm:lnlethrur!nﬂtbnmmmmlﬂt&luﬂ. S0, r standa
for H.

Thus, in HAZY, the remaining code letter h stands for Z.

In HILL, the code repeated twice is n and letter is L. So, n stands for L.

In CHEAP, the remaining code letter u siands for C.

In VAGUE and QUOTE, the common code letter m meana E.

So, the remaining code letter f atands for UL

Thus, in VAGUE, the remaining code letter b means G.

In QUOTE, the remaining code letter d atands for Q. S

In NAMELY and FAMILIAR, the common code letter @ and n stand for A and L respec-
tively. So, the remaining common code letter & stands for M. Thus, in NAMELY, the remaining
code letter j stands for N. In FAMILIAR, the remaining code letter @ atands for F.

The information ¢an be summarised as below :

Code 1 | w e m 8 k i UL o x i
Letter B D | A E V | 1.0 R P K
Code y SO UEEN: | oo BT LY 4 | & | J e
Letter -] Y H Z L €N [¢] Q M N F

28. (a) ; The code for Bis L

27. (¢} : The code for C is o

28. (k) : The code for D is &

28. id) : The code for F.is &

30. (c) : The mdtfh:ﬂtkb_

31 (b : The code for H is r.

8%, (d) ¢ Tha eede for A is ®.

8% () : The code for K is i

34.(8) : The code for M is a.

85. (n) The code for 2 is h

Questions 38 to 40
In CHIEF and PSYCO, the common code letter is q and the common letter is C.
8o, q stands for C.
In CHIEF and MONEY, the common code letter n stands for E.
In CHIEF and HENRY, the common code letter n stands for E.
S0, the other common code letter k stands for H.
In CHIEF and BASIC, the common code letter q stands for C.
8o, the other common code letter w stands for L
Thus, in CHIEF, the remaining code letter v stands for F.
In NIGHT and MONEY, the common code latter j stands for N.
In NIGHT and TOWEL, the common code letter h stands for T.
Thus, in NIGHT, the remaining code letter a stands for G. =
In THIRD and BASED, the common code letter g stands for I,
Thus, in THIRD, the remaining code letter v stands for R.
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In MONEY and WORKS, the common eode latter 2 stands for O,
In MONEY and PSYCO, the common code lotter 2 stands for O,

8o, the other common eode letter v stands for Y. In MONEY and WOMAN, the common
code letter 2 stands for O and j stands for N. So, the remaining code letier m stands for M.
In WORKS and TOWEL, the common eode letter 2 stands for O.

8o, the remaining common code letter ¢ stands for 'W.

In WORKS and BASIC, the common code letter iz t and the common_ letter is 8.

8o, t stands for B, Thus, in WORKS, the remaining code letter o standa for K.

In BASIC and FALSE, the common code letter ¢ stands for 8.

Bo, the other common code letter 5 stands for A '
In BASIC and BASED, the common code letters s and t stand for A and B respectively.

Sa, themmumngmdn]etmdmdnfmﬂ.lnmm the remaining code letter b
stands for P.

The information can be summarised as follows @ -

!Codeanwyjhngv:umnlufu_j-";;‘ﬁh..
|l..-|‘¥l.r.|m"lilE:I-ilI"I“'I"I'G['.'lil'.l’.]''!LTM'i'l"j!ﬁi.._ﬂ;jﬂ.'.ﬁ'ﬁj

36. () : The code for Ain s, for Gisa, for Sistand for T is h. i
So, the code contains the letters, sath which are contained &11!&%

87. (d) : The code for Bisd, for Ois =, for A is s, for R is v and for D.is g
50, BOARD mwﬁadaldmor gzdvs,

38. (a) : The code for Uss in Q. 36 is |, farNgL{ﬁ:’rIww! for © is z and for R is v.
So, the code for JUNIOR mntmn:a.l,}'wﬁr

38, (b) : The code for D is g for 1 is w, fnrﬁtﬂhﬁcE i&n, for Sis t and for T iz h
So, the code for DIGEST is g'l,!.rﬂnth or EE‘WhL

40. (c1: The mdzfurDui‘.fanﬁn.ﬁnrnwi and for F is .
S0, the code for DWhmnpnﬁs

Questions 41 to 45

Ths is a special type of mblem In such type of questions, the code letters in the code
equivalent, uflh#*mﬂmhl‘he same sequence as the letters in the word
41. (a) ; Clearly, the letters E and R are common to CLUSTER, NUMBER and BRAVE,

m ta the alternatives in Q. 41, the codes for E and R could be X and E or
D and @ or E and O or Q and P,

Ateording to the alternatives in Q. 44, the codes for E and R could be Q and P or
Danﬂﬂur!nndEorFandQ

m:mrdumml.h& alternatives in Q. 45, the codes for E and R could be-F and Q or
Qand Ror E and O or X and E,

The codes common to all the three possibilities above are X and E.
Since only {a) contains these codes, a0 {a) is the right code equivalent for CLUSTER.
Thus, code for C is Y, l'u&'Lth for Uis P, for 8 is Q, for T is D and a0 on.

42. (a): The code for L is H and only (a) contains H at the first place.

43. (8) : The code for T is I and only (b} contains D at the first place.

44. (c] : The codes for E and R are X and E respectively and only {c) contains X and E at
the last two places.

45. (d) : The codes for R and E are E and X respectively and only (d) contains E and X at
the corresponding places i.e., the second and fifth places.

s




5. BLOOD RELATIONS

In these tests, the success of a candidate depends upon the knowledge of the
blood relations, some of which are summarized below to help solve these tests.

Mother's or father's son Brother

Mother's or father's daughter Sister

Mother's or father's brother Uncle

Mother's or father's sister Aunt

Mother's or father’s father Grandfather
Maother's or father’s mother ~ Grandmaother
Son's weife Daughter-in-Law
Daughter's hushand Snn-]n an
Husband's or wife's sistar ]
Husband's or wife’s brother

Brother's son [

Brother' daughter '

Uncle or aunt's son or daughter ' Cousin

Sister's husbhand Brother-in-Law
Brother's wife : ; Sister-in-Law
Grandson's or Grand daughters daughter Great grand daughter:

TYPE 1: DECIPHERING JUMBLED UP DESCRIPTIONS

In thii type of questions, a round-about deseription iz given in the form of certain
small relaﬁm:‘hba and direct relationship between the persons concerned is to be
deciphered.

Ex. 1. P‘umtmg to a photograph, a man said, “I have no brother or sister but that

Sol.

Ex. 2.

man's father is my father's son. " Whose photograph was it ?

{a) His own ~(b) His son's (c) His father's

{(d) His nephew's {g) None of these {(Hotel Management, 1998)
Since the narrator has no brother, his father's son is he himself. So, the man

who is talking is the father of the man in the photograph or the man in the
photograph is his son.

Henee, the answer is (b).

Amil introduces Rohit as the son of the only brother of his father’s wife. How
is Rohit related to Amnil ?

{a) Cousin (B} Son (e} Unele (d) Son-in-law ' () Brother
The relations may be analysed as follows :

Fathei's wife — Mother; Mother's brother — Unele; Unele’s son — Cousin,
So, Rohit iz Anil's cousin. Hence, the answer is (a),

220
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Ex. 3. Pointing towards a person in & photograph, Anjali said, “He is the only son

of the father of my sister's brother.,” How is that person related to Anjali 7
{a) Mother (b} Father () Maternal uncle
{d) Cousin i2) None of thess (Bank P.0O. 19894)
The relations may be analysed as follows :

Sister's brother — Brother; Brother's father — Father; Father's son — Brother,
So, the person in the photograph is Anjali's brother.

Hence, the answer is (el

. 4. Pointing out to a photograph, a man tells his friend, “She is the daughter of

the only son of my father's wife." How is the girl in the photograph related
to the man ? ]

{z) Daughter (b) Cousin () Mother (d) Sister {2) Niece
The relations may be analysed as follows :

Father's wife — Mother; Mother's only son — Himaself.

So, the girl is man's daughter,

Henece, the answer 18 {a).

6. Xintroduces Y saying, “He is the husband of the grand daughter of thedather
of my father.” How is ¥ related to X 7

(a) Brother (b} Ben (c} Brother-in-law _ (d) Mephew (g} Son-in-law
The relations may be analysed as follows .

Father's father — Grandfather; Grandfather's Grand daughter — Sister;
Sister's husband — Brother-in-law,

S0, Y is X's brother-in-law,
Hence, the answer is {c).

Ex. 6. Pointing out to a lady, Rajan aaid, *Ehe is the daughtur af l:he waman who

1.

is the mother of the husband of my mother.” Who is the lady to Rajan ?
la) Aunt fb) Grand dmghtm' (e} Daughter (d) Sister (e) Sister-in-law
The relations may be analysed as follows -

Maother's husband — Father; Father's mother — Grandmother: Grandmother’s
daughter — Father's sister; Father's sister — Aunt,

S0, the lady is Rajan's aunt.

Hence, the answer is (a).

| EXERCISE 5A |
Poml‘.:l.n.g to & man on the stage, Rita said, “He is the brother of the daughter
of the wife of my husband.” How is the man on the stage related to Rita 7
{a) Son {b) Husband {e) Cousin  (d) Nephew (¢} Brother-in-law

Showing the man receiving the prize, Saroj said, “He is the brother of my uncle's
daughter.” Who is the man to Saroj 7

{a) Son (b) Brother-in-law e} Naghew {d) Uncle {2) Cousin

Pointing to a man, a woman said, “His mother is the only daughter of my
maother.” How is the woman related to the man 7 (Bank P.0. 1888)

If} Mother (&) Daughter (c) Sister (d) Grandmother (e} Mone of these
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7.

8

10.

11.

12.

14.

15.

16.

Reasoning

Pointing to a photograph, a person tells his friend, “She is the grand daughter
of the elder brother of my father.,” How is the girl in the photograph related to
his fnan ? i

{a) Niece (b} Sister (c) Aunt {d) Sister-in-law  (e) Maternal aunt
Pointing to a photograph, Vipul said, “She is the daughter of my grandfather's
only son." How is Vipul related to the girl in the photograph 7 (B.B.R.B. 1997)
{z) Father (&) Brother (c) Cousin (d) Data inadequate (¢} None of these

A woman introduces a man as the son of the brother of her mother. How is the
man related to the woman ?

{aY Nephew (b) Son {e) Cousin {d) Unele {e} Grandson
Looking at a portrait of a man, Harsh said, “His mother is the wife of my
father's gon. Brothers and sizters [ have none” At whose portrait was Harsh
looking ? ; (M.B.A. 1998)
(a) His son (b) His cousin (¢) His uncle (d) His nephew (e) None of these
A man said to a lady, “Your mother's husband's sister is my aunt.™ How is the
lady related to the man 7 : i !
(a) Daughter  (b) Grand daughter (c) Mother  (d) Sister . {e) Aunt
If Neena says, “Anita's father Raman is the only son of my father-in-law
Mahipal”, then how is Bindu, who is the sister of Anita, related to Mahipal ?
(a) Niece (b) Danghter (¢) Wife (d) Daughter-in-law (e) None of these
' \ - {Bank P.O. 1996)
Pointing to a girl in the photograph, Amar said, “Her mother's brother is the
only son of my mother's father." How is the girl's mother related to Amar ?
(a) Mother  (b) Sister _ (¢) Aunt  (d) Grandmother  (¢) None of these
: z (Railways, 19894)
A girl introduced & boy as the son of the daughter of the father of her uncle.
The o ISETES.
(a) Brother (b} Son () Uncle (d) Son-in-law (e) Nephew
If X is the brother of the son of Y's son, how is X related to Y ? ‘
(a) Sen.  (b) Brother (¢} Cousin {d) Grandson (e} Uncle
Pninti':i',ﬁ to a gentleman, Deepak said, “His only brother is the father of
my daughter’s father.” How is the gentleman related to Deepak ?
(a) Grandfather (b) Father (c) Brother-in-law (d) Uncle (e) None of these
i{Bank P.O. 1887)

Introducing a man to her husband, a woman said, “his brother's father is the
anly son of my grandfather.” How iz the woman related to his man ?

(a) Mother  (b) Aunt  (c) Sister . (d) Daughter  (¢) Grandmother
Pointing out to a lady, a girl said, “She is the daughter-in-law of the grandmother
of my father's only son." How is the lady related to the girl 7

(a) Sister-in-law  (b) Mother (c) Aunt (d) Motherdn-law (e Cousin
Rita told Mani, “The girl I met yesterday at the beach was the youngest daughter
of the brother-in-law of my friend's mother.” How is the girl related to Rita's
friend ?

{a) Cousin {b) Daughter () Niece (d) Friend (e} Aunt
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17.

18.

18.

21.

B

If Kamel says, “Ravi's mother 18 the only daughter of my mother”, how is Kamal
related to Ravi ? (S.B.LP.0. 1884)
{a) Grandfather (b} Father {2} Brother

(e} Cannot be determined (e} None of these

Rahul told Anand, “Yesterday | defeated the only brother of the daughter of my

grandmother.” Whom did Rahul defest ?

(a) Son (b)) Father {c} Brother () Father-in-law (e} Cousin

When Anuj saw Manish, he recalled, “He is the son of the father of my daughter.”

Who is Manish 7

{a) Brother-in-law (b} Brother (¢} Cousin  {(d) Uncle (2] Nephew

Pointing to a photograph, a lady tells Pramod, 1 am the only davghter of this

lady and her son is your maternal uncle.” How is the speaker related to Pramod's

father ? (Hotel Management, 1995)

(o) Sister-in-law  (h) Wife {e) Either {a) or {b) (d) Neither {a) nor'(s)

Introducing a man, a woman said, “He is the only son of my mother's mother.”

How is the woman related to the man ?

{a} Mother ib) Aunt  (c) Sister id) Nieee (e} None of these

Pointing to a man in a photogeaph, Asha said, “His mother’s only dasghter is

my mother.” How is Asha related to that man ?

{a) Nephew {b) Sister e} Wife {d) Niece (g} Grand daughter

Pointing to a photograph, 8 woman says, *This man's son's sister is my mother-

in-law.” How is the woman's husband related to the man in the photograph ?

{a) Grandson {h) Son ic) Son-in-law  (d) Nephew () None of these
(M.B.A. 18994)

. Introducing & man, & woman said; "His wife is the only daughter of my father.”

How is that man related to the woman 7

{a) Brother (b) Father-in-law {c} Maternal uncle
() Husbhand Aey None of these
. D said to Mitin, *That boy playing with the foothall iz the younger of the

two brothers of the daughter of my father’s wife.” How is the boy playing football
related to Deepak 7

{a) Son {b) Brother (c) Cousin  (d) Mephew ie} Brother-in-law
Pointing to the lady on the platform, M u qﬁiq:!}“ﬁh& is the sister of the father
of my mother’s son.” Who is the lady to Marju 7

fo} Mother (b} Sister  {c) Aunt id) Niece te) None of these

Arun said, “This girl ia the wife of the grandson of my mother.” Whe is Arun
to the girl 7

{a} Father (5} Grandfather {e} Husband
{d) Father-in-law (e} None of these

Pointing te & man in & photograph, & woman said, “His brother’s father is the
only son of my grandfather.” How is the woman related to the man in the
photograph 7 {B.E.RLEB. 1996)
fz) Mother  (b) Aunt (¢} Sister () Davghter e} Grandmother
Pointing to a person, a man eaid to a woman, "His mother is the only daughter
of your father.,” How was the woman related to the person 7

{a) Aunt (b} Mother e} Wife (e} Daughter (e} None of these
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31.

A man pointing to a photograph says, “The lady in the photograph is my nephew's
maternal grandmother,” How is the lady in the photograph related to the man’s
sister who has no other sister 7 (Hotel Management, 1987)
{a) Cousin (b) Sister-in-law {c) Mother (d)} Mother-in-law
Pointing to a lady, a8 man said, “The son of her only brother is the brother of
my wife.” How is the lady related to the man 7

{a) Mother's sister () Grandmother () Mother-in-law
(d) Sister of father-in-law (e} Maternal aunt

Pointing to an old man, Kailash said, “His son is my son's uncle.” How is the
old man related to Kailash ? '

{ia) Brother  (b) Uncle  (¢) Father (d) Grandfather {(¢) None of these

ANSWERS

1. ta) : Wife of hushand — Herself; Brother of daughter — Son.

5o, the man is Rita's son.

2-le) : Brother of uncle’s m— Uncle's son — Cousin.

* So, the man is Seema's cousin.

3. {a) - Odly daughter Hn’nﬁh@' — Myszelf,

S0, the woman is man’s mother,

4.(n}: Brother of father — Uncle; Unele's grand daughter — daughter of uncla's son —

daughter of cousin — niece.

B.(b): My grandfather’s only son — My father,

So, the girl is the :I.lnghtar of Vipul's ﬁ“h, "J1pul is the giri's brother.

8. (e} : Brother of mother — Uncle; Unde'a son — Cousin.
T.{a): E‘rmnaHnrshhunohmﬂ:u#m go he is his father's only son.

Now, wife of my father's son — n:!,j:m.fa
So, Harsh's wife is the man's mether or the man is Harsh's son.

B, {d): Ym.lr mather's huﬂlp,név-— Your Eather; Your father's sister — Your aunt,

w;,mnth.m;auntnndtharﬂm lady is man's sister.

B le): ﬂniy 309 H‘_leﬂl father-in-law Mahipal — Neena's hushand,

&}M is Neena's hushband and Anita and Bindu are his daughters.
Thul..ﬂnliu:l the mnddlughtﬂufﬂnhipnl_

lﬂ.{ﬂ Only son of Amar's mother's father — Amar's matornal unele.

50, the girl's maternal uncle is Amar's maternal uncle. Thus, the girl's mother is
Amar's aunt,

' 11. {a) : Daughter of uncle’s father — Uncla's sister — Mother; Mother's son — Brother.
1L (d): Son of Y's Son — Grandson; Brother of Y's grandson — Y's grandsen.
13. id) : Father of Deepak's daughter's father — Deepak's father.

So, the man's brother is Deepak’s father or the man is the brother of Deepak’s father
i.e., Deepak's uncle,

14. ich : Only sun of her grandfather — Her father; man's brother’s father — man's father,

S0, man's father is her father ie, She is the man's sister.

15. (b} : My [ather's only son — My brother; Grandmother of my brother — My grandmother;
My muother.

Daughter-indaw of my grandmother —
So, the lady is girl's mother.

18. la) : Daughter of brother-in-law — Niecd; Mother's niece — Cousin.

8o, the girl is the cousin of Rita's friend.
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17. (¢} : Only daughter of Kamal's mother — Kamal's sister.
S0, Ravi's mother is Kamal's sister or Kamal is the brother of Ravi's mother ie.,
Ravi's maternal uncle.

18. (b) : Daughter of grandmother — Aunt: Aunt's only brother — Father.

1% iz} : Anuj's daughter's mother — Anuj's wife ; Anuj's wife's father — Anuj's father-in-law;
Father-in-law's son — Anuj's brother-in-law.
Sa, Maniah is Anuj's brother-in-law,

20, (&) : Clearly, the speaker's hrother 153 Pramod's maternal uncle. So, the speaker ia Pramnd's
mother or his father's wife.

21. id) : My mothes's mother — My grandmother; My grandmother’s only son — My maternal
uncle.
S0, the woman is man's niece.

22, (d) : Asha’s mother's mother is man's mother ie, Asha's mother is man's sister or Asha
is man's niece,

23. (a) : Man's son's sister — Man's daughier.
So, the man's daughter is the mother of the woman's hushand. Thus, the woman's:
hushand is the grandson of the man in the photograph.

24. id) : Only daughter of my father — Myself. S0, the man is woman's hushand,

25. (b) : Father's wife — Mother; u‘nﬂmd.ughm — Sister; Sister's youwhmw——ﬂr
younger brother. So, the boy is Deepak's brother.

26. (¢} ; Manju's mother's son = Hln]rn'n brother; Manju's brother's father — Manju 's father;
Father's sister — Manju's aunt,

27. () Mother's grandson — Son; Son's wife — Daughter-inlaw. =

28. ic) : Only son of woman's mn‘  Woman's father; Man's brother's father — Man's
father. Se, the woman is man's sister.

29. (2) : Daughter of your fither — Your sisler,
8o, the person’s mother is woman's sister or the woman is person’s aunt.

30. (c) : Clearly, the I,u.d;.r is the gnmdﬂhﬁ-ﬂf man's sister’s son Le., the mother of the
mother of man's sister's son e, the mother of man’s sister.
o, the lady is mm:"i mlﬂh&r

31. (d) : Brother of my wife — H}r'hnth-‘\-m-lﬂw Son of lady's brother is the brother-in-law
of the man. ﬁu-.hﬂf'n ‘brother is man's father-in-law ie, the lady is the sister of
man’s father-in-law.

32, i) : ]{Elhhhm I.e — Kailash's brother. So, the old man's son is Kailash's brother
ie., the n‘lli man 15 Kailash's father.

TYPE 2 : RELATION PUZZLE

In this type, mutual blood relations or other informations of more than two persons
are mentioned and information about any two is mentioned.

Ex. 1. A and B are brothers. C n.nr.i D are sisters. A's son is D's brother, How is B
related to C 7 (M.B.A. 1998)
ta) Father (&) Brother (c) Grandfather (d) Uncle (e) None of these

Sol. Clearly, B is the brother of A; A's son is s brother. This means D is the
daughter of A. Sinee © and D are sisters, C is also the daughter of A
So, B is the uncle of C,

Hence, the answer is (d).

Ex. 2. Given that
1. A is the mother of B;

2, C is the son of A;


https://www.entranceexams.io/previous-papers/

Ex. 4.

Ex. G.

Reasoning

3. D is the brother of E;

4. E iz the daughter of B.

The grandmother of D is (B.C.H-A. 1994)
{a) A () B (e) C {d) D () E

D is the brother of E and E is the daughter of B. This means that D is the
son of B,

Also, A is the mother of B,

So, A i= the grandmother of M.

Hence, the answer is {a),

A and B are married couple. X and Y are brothers. X is the brother of A
How is Y related to B 7

{a} Brother-in-Law {b) Brother (¢} Son-in-Law
(d} Cousin ie) Mone of these

A and B are husband and wife. Since X and Y are brothers, and X is the
brother of A, Y is also the brother of A. Thus, Y is the mthw.lésn of B,
Hence, the anﬂ#’?& (a).

Read the following information carefully and answer the guestions given
below :

There are six children playing football namely A, B, C, D, E and F. A and
E are brothers. F is the sister of E. C Mmﬁymﬂrﬂ'n unecle. B and D
are the daughters of the brother of C's father.

1. How is C related to F ?

{a) Cousin (b) Brother __ (c) Son {d) Unele (e) None of these
2, How many male players are there 7

(a) One (b) Three: (&) Five  (d) Six fe) Four
3. How many female players are there ?
{a) Two (b)Three (c) Five  (d) One {¢) Four
4. Howis D related to A 7
{amp# ' {ﬁT‘Smter {¢) Niece  (d) Cousin (e} None of these

Bolution =
1. F is E's and hence A's sister. 8o, C is also the son ofF's uncle and is. therefore, F's
_ .@twm B0, the answer is {a).
& As given, A and E are brothers. Hence hoth are males. F ia the sister of E and hence
female. C iz the son and hence male. B and D are daughters and hence female. Thus,
there are three males. So, the answer is (&),

= o

Clearly, from the solution of 2, we find that there are three ferales. So, the answer ia (b),
Clearly, I¥Va father ia the brother of C's father and C's father is A's uncle. So, Ve father

is alao A's uncle. Thus, D is A's cousin. Hence, the anawer i {d).

| EXERCISE 58 |

1. A party consists of grandmother, father, mother, four sons and their wives and one
son and two daughters to each of the sons. How many females are there is all ?
fa) 14 (b) 16 (e) 18 (d) 24 {e) None of these
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Tl

10.

11.

12

Lakshmi and Meena are Rohan's wives. Shalini iz Meena's :tap-ﬂuughtar How
iz Lakshmi related to Shalini 7
{a) Sister {b) Mother-in-Law (e) Mother
{d) Step-mother {e) None of these
-Blaya has a brother Anil. Daya is the son of Chandra, Bimal is Chandra's father,
In terms of relationship, what is Anil of Bimal ? (C.B.L 1994)
(@) Son () Grandson ic) Brother {d) Grandfather
Rahul's mother is the only daughter of Monika's father. How is Monika's hushand
related to Rabul ? (Bank P.0. 1994)
(@) Uncle {b) Father (c) Grandfather
id) Brother (e} Data inadequate
If (i} M is brother of N; (if) B is brother of N; and (iii) M is brother of D, then
which of the following statements is definitely true ? (B.5.R.B. 1995)
{a) N is brother of B (b} N is brother of D (c) M is brother of B.
idy I is brother of M {2) None of these .
Deepak is brother of Ravi. Rekha is sister of Atul. Ravi is son of Rekha. How
is Deepak related to Rekha ? m 1997)
{a) Son (b) Brother (¢) Nephew M} Father
A is B's sister, G is B's mother, D is C's father, B iz D%® mother. Then, how is
A related to D 7 (Assistant Grade, 1896)
(a) Grandmother  (b) Grandfather | (¢} Daughter (d) Grand daughter
Given that : 1. A is brother of B.
2. C is father of Az
3. D is brother of E.
4. E isiﬁuﬂﬂ:w of B.
Then, uncle of D is (8.C.R.A 1993)
(a) A ‘&% i () C (d) E
Q Ilt'fle b;;ut-hﬂr of R; P is the sister of Q. T is the brother of 3; 8 is the daughter
of R mwﬂue cousing of Q 7
ta]Rqﬁ_P (b) Pand T {c) Q and T
fd) S and T (e} None of these
B‘ is the son of A, D is the son of B, E is married to C. C is B's daughter. How
is D related to E 7
{a) Brother {&) Uncle {c) Father<in-Law
{d) Brother-in-Law {e}) None of these
A is father of C and D is son of B. E is brother of A. If C is sister of D, how
is8 B related to E ? {Assistant Grade, 1997)
{a) Daughter {&) Brother-in-Law (¢} Husbhand {d) Sister-in-Law
Q's mother is sister of P and daughter of M. 5 is daughter of P and sister of
T. How is M related to T 7 (Bank P.0. 1985)
(a) Grandmother {b) Father {c} Grandfather

{d} Grandfather or Grandmother {¢) None of these
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Directions (Questions 13 to 15) : Read the following information and answer
the questions given below :

A is the son of B. C, B's sister has a son D and a daughter E. F is the maternal
uncle of D.
13. How is A related to D 7

(a) Cousin (h) Nephew {c) Uncle ()} Brother
14. How is E related to F 7

{a) Sister {b) Daughter (c) Niece () Wife
15. How many nephews does F have ?

(a) Nil () One (c) Two {d) Three

Directions (Questions 16-17) : Read the following information and answer
the gquestions given below it : (8.8.C. 1983)

A is the father of C. But C is not his son.

E is the daughter of C. F is the spouse of A.
B is the brother of C. D is the son of B.

G is the spouse of B. H is the father of G.

16, Whnwthegmnquﬂ:uﬁfn!

(a) A #c {c) F (d H
17. Who is the son of F ? 4
(@) B by ¢ (il d) E
18. C is A’s father's nephew. D is A's cousin but not the brother of C. How is D
related to C 7
(a) Father (b) Sister (¢) Mother (d) Aunt

19. P is the son of Q@ while Q anﬂ R are the gisters to one another. T is the mother
of B If B is the son of T, Irhinh of the following statements is correct ?
{a) T is the hmthqr nf‘ﬁ ' (b} 8 is the cousin of P.
{¢) Q and & are sisters. {d} 8 is the maternal uncle of P.
(e) R the fgranﬂﬁﬂllr of P.

20. A il‘thﬂ,hﬂ:ﬂhr of B. B is the brother of C. D is the father of A. Based on these
three statements, which of the following statements cannot be definitely true ?

{e) Bisthe brother of A, {b) B is the son of D.
e} A is the brother of C. - {d) C is the brother of A
(e} A, B and C are D's children. {(B.S.H.B. 1997

21. A is father of X ; B is mother of Y. The sister of X and Z is Y. Which of the
following statements is definitely not true 7
{a) B is the mother of Z.  (b) X is the sister of Z. {c) Y is the son of A
() B has one daughter. (e} B is the wife of A

22. Rajan is the brother of Sachin and Manick is the father of Rajan. Jagat is the
brother of Priya and Priva is the daughter of Sachin. Who is the uncle of Jagat ?
tal Rajan ib) Sachin (e} Manick {d) None of these

(Transmission Executives' 1894)

23. Neelam, who is Deepak’s daughter, says to Deepika, “Your mother Rekhs is the
younger sister of my father who is the third child of Ramlal.” How iz Ramlal
related to Deepika ?

{a) Uncle b} Father ic) Grandfather (d} Father-in-Law
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24. P is the brother of @ and R. S is R's mother. T is P's father. Which of the
following statements cannot be definitely true 7
(a) T is Q's father. {b) 8 is P'a mother. (c) P iz 8's son.

(d) T iz 8% husband. {e) Q i T'= son.

25. Pis the brother of D, X is the sister of P. A is the brother of F. F is the daughter
of D. M iz the father of X. Who is the uncle of A 7
ia) X by P (e) F d) M

28. K is the brother of N and X. Y is the mother of N and Z is the father of K.
Which of the following statements is not definitely true ?
ia) K iz the son of Z. (B) Y is the wife of Z. ie) K is the son of Y.
id) K is the father of X. (e} N is the brother of X.

27. A woman walking with a boy meets another woman and on being asked about
her relationship with the boy, she says, “My maternal uncle and his maternal
uncle's maternal uncle are brothers.” How is the boy related to the woman 2
{a) Nephew  (b) Brother-in-Law  (c) Son  (d) Grandson (e) Husband
Directions (Questions 28 fo 31) : Read the information given below and

answer the questions that follow : (B.B.RB. 1998}

(i) In a family of six persons A, B, C, D, E and F, there mﬂnmﬂmﬂm
(ii) D is grandmother of A and mother of B. <
{iii) C is wife of B and mother of F.
(iv) F is the grand daughter of E.
28, WhatisCto A ?

{a) Daughter (b)-Grandmeother ) Mother
{d) Cannot be determined (e} ng of these

28. How many male members are thma.n the family 7
{a) Two {b) Three {c) Four

{d} Cannot be ﬂﬁlﬂlﬁnﬁ {e) None of these
30. Which of the hﬂqwh true ?

mmwhﬂhm‘! {b) A is sister of F, (¢) D has two grandsonas.
(d) B has two daughters. () None of these.

. Who nrm:-ng the following is one of the couples 7

til-;" ‘ED (b) DE ic) EB

{d) Cannot be determined (e} None of these

Directions (Questions 32 to 37) : Study the following information carefully
and answer the guestions given below it :

All the six members of a family A, B, C, D, E and F are travelling together. B
is the son of C but C is not the mother of B. A and C are a married couple. E i
the brother of C. D is the daughter of A. F is the brother of B.

32. How many male members are there in the family 7

{a) 1 B 2 ic) 3 (d) 4
33. Who is the mother of B 7 :
{a) D b F €} E d) A

34. How many children does A have 7
{a) One (b)) Two {c} Threa (d) Four
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35. Who is the wife of E 7

la) A (b} F e) B (d) Can't be determined
368. Which of the following is a pair of females 7
{a) AE {b) BD {c) DF (d) AD
37. How is E related to D ?
(a) Father {b) Brother (e} Uncle id) Can't be determined
Directions (Questions 38 to 42) : Read the information given below and
answer the guestions that follow : {Bank P.0. 1995)

I. AB.C, D, E and F are six members of a family.
1. One couple has parents and their children in the family.
I11. A is the son of C and E iz the daughter of A.
IV. D is the daughter of F who is the mother of E.
38. Who are the male members in the family ?

(a) A and C (b} C and F erA, Band D
(d) Cannot be determined (#) None of these
39. Which of the following pairs is the parents of the children ?
{a) BC (b) CF te) BF
(d) Cannot be determined {e) None of these
40. Which of the following pairs is the parents of the couple 7
(a) AB () BC () AEC . | (d) CF (e) None of these
41. How many female members are there in the family ?
{a) Two () Three {e) Four
(d) Can't be determined . (e) None of these
42. What relationship do D and E bear to’each other 7
{a) Sister and Brother (&) Mother and Son _
{¢) Grandmother and Grn:ml anughtnr d} Sister () None of these

43. A B, CD.E. F and G are members of a family consisting of four adults and
three nhzllﬁ:n. two of whom, F and G are girls. A and D are brothers and A is
a doctor. E 5 an ‘engineer married to one of the brothers and has two children.
B'is married to D and G is their child. Who is C 7 (LAS. 1998)

(a) A'§ son (k) E's daughter (e} F's father id) G's brother
Directions (Questions 44 to 48) : Read the following information carefully
and answer the guestions given below it ;
 In a family, there are six memberzs A, B, C, D, E and F. A and B are a married
couple, A being the male member. D is the only son of C, who is the brother of A.

E is the sister of D. B is the daughter-in-law of F, whose husband has died.
44, How is F related to A 7

ta} Mother i) Sister-in-Law (c) Sister
id} Mother-in-Law e} None of these
45. How is E related to C ?
la} Sister ih) Daughter ic) Cousin (d) Aunt (e} Mother
46. Who s Cto B ?
ta) Brother - {(b) Brother-in-Law_ (¢} Nephew -

() Son-in-Law {e) None of these
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47. How many male members are there in the family ?
(a) One {b) Twao {c) Three d) Four {e) Five
48. How is F related to C ?
{a} Mother-in-Law (b) Sister-in-Law (c) Mother  (d) Aunt (e} Sister
48, Shobha is the niece of Ashish, Ashish's mother is Priva. Kamla is Priya's mother,
Kamla's husband is Hari. Krishna is the mother-in-law of Hari. How is Shobha
related to Hari ? {Assistant Grade, 1996)
{a) Daughter (B} Great granddaughter (e} Grandniece
{d) Great grandson's daughter
Directions (Questions 50 to 54) : Study the following information carefully
and answer the questions given below it : {Railways, 1988)
There are six persons A, B, C, D, E and F. C is the gister of F. B is the brother
of E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group.

50. Who is the mother ?

(@) A ib) B ) D (d) E
61. Who is E's husband 7
(a) B (b) C (ch A td) B
52. How many male members are there in the group 7
(a) One (b) Two (e} Three {d) Four
53. How is F related to E 7
(a) Uncle (b) Husband (¢) Son {d) Daughter
54. Which of the following is a group of brothers ?
{a) ABF (b) ABD fe) BFC (d) BDF
Directions (Questions 55 to m * Read the following information carefully
and answer the qulﬂomm it

A family consists of six members P, Q, R, X, Y and Z. Q is the son of R hut R
is not mother of Q. P and R are a married couple. Y is the brother of R. X is the
daughter of P. Z is the brother of P.

B5. Who is the brother-in-law of R ?

la) P _ b 2 e Y d) X
56. Who is the father of Q 7
. @R (b) P ) Z {d) None of these
- B7. How many children does P have ?
' {a) One (b} Two {c} Three id) Four
B8. How many female members are there in the family ?
la) One (b} Two (¢} Three (d) Four
59. How is Q related to X 7
{a) Husband (k) Father (¢} Brother () Unele
80. Which is a pair of brothers ?
{a) P and X (b) P and Z krQandX (d)Rand Y

Directions (Questions 61 to 65) : Study the information given below and
answer the questions that follow :

There i a family of six persons A, B, C, D, E.and F. They are Lawyer, Doctor,
Teacher, Salesman, Engineer and Accountant. There are two married couples in the
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family. D, the Salesman is married to the Lady Teacher. The Doctor is married to
the Lawyer. F, the Accountant is the son of B and brother of E. C, the Lawyer is
the daughter-in-law of A. E is the unmarried Engineer. A is the grandmother of F.
81. How is E related to F 7

(a) Brother {b) Bister (¢} Cousin
(d) Cannot be determined {e) None of these

82. What is the profession of B ?
(a) Teacher ib) Doctor (¢} Lawyer
(d) Cannot be determined (e} None of these

63, What is the profession of A 7
(a) Lawyer {b) Teacher (c) Doctor
{d) Cannot be determined {e) None of these

64. Which of the following i= one of the couples ? .
{a) Fand D {(b) D and B (c) E and A
(d) A and C . {¢) None of these

85. How is D related to P ? . 9
(a) Grandfather (h) Father {c) Unele
(d) Brother {e) None of these

Directions (Questions 66 to 70) : chdtbafomulnhmnhanmﬁdlg
and answer the guestions below :

A family consists of six members P, Q, R, 8, T and U. There are two married
couples. @ is a doctor and the father of T. U is grandfather of R and is a contractor.
5 is grandmother of T and is a8 housewife. There is one doctor, one contractor, one
nurse, one housewife and two students in the family.

86. Who is the husband of P'?

(@) R (b)Y U () Q () § () T
687. Who is the sister of T ?
(@) R (b) U T

{d) Information insufficient {¢) None of these
68. What is the profession of P 7

Aa) Doctor {b) Nurse (c) Doctor or Nurse
 (d) Housewife {e) None of these
89, Which of the following are two married couples 7

{a) US, QT (b US, QP (e} TS, RU d) US, RF () None of these
70. Which of the following is definitely a group of male members ?

(a) QU (6) QUT ) QUP id) UT (e} None of these
Directions (Questions 71 to 73) : Read the following information carefully
and ansicer the questions that follow : (8. B.LP.O. 1885)

in a village of Bastar district in Madhya Pradesh, only two types of people live
who belong to a tribal class. The first type is known as class A, while the other is
known as class B. In that village, there is po other type of person except these two.
The activities of both types of people are governed by perfectly patterned norms of
anﬁ:l Emehlﬁm‘ Each person of the tribe has to obey the norms. They are rigid
about this.
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7L,

T2.

As far as marriage is concerned, the following norms are to be followed

(A) The people of class A eannot marry any other member of their own clasa,
though they can marry members of class B.

(B} After being married, each male member ceases to be a2 member of that class
in which he was born but automatically, he becomes the member of the
other class to which his wife belongs.

(C) As far as females are concerned, they remain the members of their own
class after being married.

{D} On his birth, the child automatically becomes the member of his mother's class.

(E} When any male member becomes widower or divorcee, then he again belongs
to the group in which he was born.

{F} Nobody can marry more than one person according to social laws.

Any class B female can have

(P} Grandfather born in class A

(@) Grandmother born in class A

() Only (P) can be true {b} Only (&) can be true. |

{e) Either (P) or (@) can be true {(d) Neither (P) and (Q) can be true

(e} Both (P) and (Q) can be true

One boy, who was born in class B (boy and his wife both ean have married and

unmarried brothers),

{a) can have his daughter in class B G’} m h\m l,ﬂﬂ'l‘l-ln-lﬂ“ﬂ' born in class A

{c) ean have his uncle from any class (d) i:,m hm 8 divorced son in class B

{e) can have a duught,arhm -law born in' ﬂ“a

Which of the following marnm‘in not purnuaanhie according to the social laws 7

{a) Any girl of class B mmmuﬂwrﬁ brother.

(&) Any widower man'lts his. wife's sister.

ic) Any boy of l:l.aslB m his father’s sister.

id) Any- wxﬂﬁ‘é ham 1,:1 tlass A marries his brother's widow.

le) ﬁny mﬂuw murnes the former divorced husband of her daughter,

ANSWERS

lﬁﬂ . Grandmother is one female, mother is another, wives of four sons are the four famales

and two daughters of all four sons are eight females.
S0, in all there are 1+ 1 +4 + 8= 14 females:

2. (c): Shalini is Meena's step-daughter means Shalini is the daughter of the other wife of

Hohan. So, Shalini is the daoghter of Lakshmi or Lakshmi is the mother of Shalini,

4. (b)Y ; Anil is the brother of Daya and Daya is the son of Chandra. So, Anil is the son of

Chandra. Mow, Bimal ia the father of Chandra.
8o, Anil is the grandson of Bimal.

4. (b) : Clearly, the only daughter of Monika's father is Monika herself So, Bahul's mother

is Monika. Thus, Monika's hushand is the father of Rahul

B.ich: M is the brother of N and B is the brother of N.

S0, M is the brother of B.

6. (a) : Deepak is the son of Ravi, who is the son of Rekha. Thus, Deepak is the son of Rekha
7. by Aulthe sister of B and B is the daughter of C. 8o, A is the daughter of C. Also, D

is the father of C. So, A is the granddaughter of D,
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B, lad:
9, {d) ¢
10 qd) :

1L ta):

12. (a) :

18. (a) :

14. ich :

1B5. () :

18. (e} !

17, )

18. () :

18, () :

20. ()

2L. ir) :

22. (o)

23. (e}

@
25, (k) -
28. (¢) :
27 wh .

28, (o) :

Reasoning
Clearly, I» is the brother of E and E is the daughter of B. 50, D is the son of B.
Also, A is the brother of B. So, A is the uncle of D.
T is the brother of 8, who is the daughter of R. 8¢, T and 8 are the children of R.
Mow, Q is the brother of B. S0, T and § are the cousins of Q.
C is B's daughter and D is B's son. So, I} is the brother of C. E is a male married
1o €. So, E is the hushand of C, whose brother is [ S0, D is the brother-in-law of E.
A is father of C and C is sister of D. So, A is father of [ But I} is son of B. S0, B
is the mother of D and wife of A. Also, E is the brother of A. S0, B is the sister-in-law
of E.
8 is daughter of P and sister of T. 8o, T is daughter of P. Now, the sister of P is
the daughter of M. This means that P is also the daughter of M. Clearly, T is the
granddaughter of M. So, M ia the Grandfather or Grandmother of T.
A is the son of B and D ia the son of the sister of B. S0, A iz the cousin of D.
E is the daughter of C and D is the son of C, So, F, who iz the maternal uncle of
D, is also the maternal uncle of E. Thus, E iz the niece of F.
Clearly, F is the maternal ancle of D meana F is the brother of [Vs mother e, F
ia the brother of C. C is the sister of B. Se, F is the hrother of B who m&smthm
Thus, F is the maternal uncle of A So, ﬁandl)mthnn&plﬁwur.f?h !"hni’
two nephews.
D is the son of B, B is the brother of C and A is the father#fﬂ 'l!ud‘mns that
B is the father of D and A is the father of B. So, A is the grandfather of D. Now,
F is the spouse of A. So. P is the grandmother of D.
Mmhmﬁnhmﬂmﬁhmd&nndfhﬂ#muﬂﬂ*ﬁn B ia the son of F,
C is A's father's nephew means C is the sen of A's father's brother ie, C is the
cousin of A D is also A's cousin. So, ﬂmqﬂhr-fhmthzrnrulmufc But D
is not brother of C. So, D must be mxtdi(:ﬂ‘ﬂ
Qundﬂar&nmt.eﬂ 8o, TmﬁtmoﬂmﬂﬂﬂmmsTll the mother of Q and R. 5
i5 thcwnul"l'mmns&uihghﬂthernl’ﬁ Thus; P is the son of § means S is the
maternal uncleof P,
rls the brother, nl'ﬁlndnla'lh&hrﬂther of €. 8o, C may be the brother or sister
of A

Ap:heﬁﬂ-.arﬁxu&'.’m the sister of X Bo, Y is the daughter of A

; ;Jia:il is the brother of Priva and Priya is the daughter of Sachin. So, Jagat is the
son. Hsjnhiq} Mow, Rajan is the brother of Sachin. Thas, Rajan is the uncle of Jagat

Neglam's father is Deepak. Deepika’s mother is Rekha. Deepak is the third child of
Ramlal. So, Deepak’s younger sister Rekha is the daughter of Ramlal. 8o, Ramlal is
father of Rekha and grandfather of her daughter Deepika,

P. Q. R are children of same parents. So, 5 who is R'a mother and T, who is P's
father will be mother and father of all three. However, it is not mentioned whether
Q is male or female. So, (¢) cannot be definitely true,

A 15 the brother of F who is the daughter of D. 80, A is the son of D, P is the brother
of . So, P is the ancle of A

K is the brother of N and X. So, Y, who is the mother of N and Z, who is the father
of K, will be mother and father of all three. However, it is not mentioned whether
N ix male or female.

5o, the statement (e} cannot be definitely true.

Boy's maternal uncle will be brother of boy's mother. Maternal uncle of mother's
brother and maternal uncle of lady are brother means lady is sister of mother's
brother i.e., lady is the mother of the boy. S0, the boy is woman's son.

C is the wife of B and D is mother of B. 8o, C is the grandmother of A. So, C is the
miother of A
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#9. (d) « Clearly, the sex of & cannot be determined.

a0, {¢) 1 The sex of A is not Enown. So, neither (o) nor (b) is definitely true. Clearly, D ix the
grandmother of A and F,

81. (h): € ia wife of B. S0, one couple ia BC. Now, I is grandmother of A B is the son of [}
and his wife C is Jw mother of F. S0, D is also the grandmother of F, But F is the
granddaughter of E. So, E is the grandfather of F and the hushand of D, Thus, DE
is another couple.

Guestions 32 to 37
B is the son of C but C is not the mother of B means C v the father of B, A in
married o C means A i8 the mother of B, F.is brother of B means F ir son of A
and C. D is daughter of A means D is daughter of A and C

32 ()= A is the mother and hence female. B s the son and hence male. € is the husband
and hence male, D) is the daughter and hence female, E is the brother and hence
male. F {# the son and henee male, So, there are four males,

3%, id) : Clearly, A i the mother of B.

34.0e): A has son B, son F and deaghtor D e throe children.

85. {d) : Clearly. from the data available, the wife of E cannot be determined.

36. [d) : Clearly, the femnfu_._'ﬂi lqi.ytﬁu mother A and the davghter [}

87.{¢): E is the brother of C who is the father of D So, E is the uncle éf D,

Quutim a8 to 42 i

E is the davughter of A and F s the mother af E. 5o,/ i lha hﬂw B E and husice
the husband of F. NWH nll the daughter’ ﬂ'? E} an.d.'! are the daughters of
Aand F.

Alsa, A ia the son of €. Now, only B remains. Thus, B and © are the paronts of A,

38, id) : The sex of B and € cannot he ditemined.

88, l¢) ; Clearly, A and F are the pareqﬁ of the children D and E.

4. (b} : Clearly, B and C are the parents of the couple.

4l (¢} : Clearly, the fomales in the family are : either Bor C, F, D and E.

42. ) : Clearly, Boand B are a‘lﬁq‘ﬂ

L ia): E lawﬁd f,u:r"ﬁ{rrﬂ Eut B 13 married to D, Thus, E is married to A Thus, A;
B‘:._'ﬂ' E are the fﬂ'ﬁt gdults and C, F, G are the three children in the family.
Band D have a child G.

Asrd E have two children. They are C and F.
‘Iuﬂﬂ?andﬁmg‘tﬂa B0, C 15 a boy. Thus, C 15 A's or E's son

ngumumm

A is a male and married to B. 80, A is the husband and B is the wife. C is the
" brother of A. D is the son of C. E, who is the sister of [} will be the dasghter of ©.
B is the daughter-in-law of F whore hushand has died means F is the mother of A
44. la) © Clearly, F is the mother of A
45, (b} : Cloarly, E ia the daughter of C.

48. (b2 T is the brother of A who is the husband of B, So, T is the brother-in-law of B.
47, 1cl s A is o male. B, the wife, 15 female O, the brother, ix male, D, the son, 15 male. E,
the sister, is female. F, the mother, i a female. So, there are three males

48, (c1: F is thé mother of A and C is the brother of A S0, F s the mother of O

48, {b) : Bhobha iz the nisce of Ashish means Ashish is the uncle of Shobhs Now, Priva ia
Ashish's mother, So, Priva is the grandmother of Shobha Hari is Priva's father. Sa,
Shobha is the great granddsoghter of Hari,
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Questions 5 to 54

It is father of A and grandfather of F. So, A is father of F. Thua, I¥ and A are the
twa fathers. C is the sister of F. So, C is the daughter of A. Since there is only one
mother, it iz evident that E iz the wife of A and hence the mother of C and F. So,
B ie hrother of A. Thers are three brothers, So, F is the-brother of C,

80. id} : Clearly, E is the mother.

51. (e} : Clearly, A ia E's husband.

B2. ) - A, the father. is male. B, the brother, is male. C, the sister, is female. [, the grand-
father, iz male. E, the mother, is female. F, the brother, is male. So, thers are four
males.

53. (2) : Clearly, F is the son of A.

B4.ind: Clearly, B and A are brothers. F ia the brother of C. 8o, three brothers are A, B, F.

Questions 55 to 86
Q) is the son of K but R 15 not the mother. So, R iz the father of G. P is married to
R. 80, P ie the wife of B and the mother of Q. X is I.I'-d..u.ghmul'i'undhﬁlnf.
R and 8o she is the sister of Q. Y ia the brother of R and 2 is the brother of P,

56, (b) : R is the husbandof P and Z ia the brother of P, So, & is the brother-in-law of R

B6. ta) : R is the father of Q.

B7. b} : Clearly, Q is the son of P and X is the daughter of P. S0, P has two ehildren.

B8, (b) : There are two females only — mo‘l.har[’mtﬂdluglﬁr:,

58, (c) ; X is the sister of @ whe is a male. So, Q i= brather of 3.

80. (o) : Clearly, ¥ is brother of R who is l.lqﬂh &.deﬁm:mrﬁhm}uﬂ

Questions 81 to 85
CJ;-.thedmuhfber-m}.nwdﬁwhhlﬂ#ﬂﬂﬁ&urnf?mﬂil&amm
of F. But F is the son of B. 8o, Hﬁﬂlbﬂmd But C, the lawyer, is married to
the Doctor. o, B is the Ductor. F, ﬂh&mununt.tillbethtm of Band C. E is
the unmarried Engineer. S0, the other married couple ¢can be that of grandmother
of F Le Amdﬁﬂuﬁh.fh;ﬁﬂmm.nwm-dmmu Lady Teacher. So, D, tha
$aiahn;u_m the grandfather of F, father of B and the husband of A, the Lady
e

61. () ; Clearly, from I]'Il-ﬂ'ﬂ"ﬂ'n data, the relation between E and F cannot be determined.

b m.rlr.ﬂm’l‘hp Doctor.

3. (b} A inthe Lady Teacher.

Bd. (e} - Thu two couples are C and B; and D and A which is none among the chuices.

Iﬁ,{n} fllH the prandfather of F,

q--ﬂun-mtu'm
G, the Doctor, iz the father of T. 5, the Housewife, ia the grandmother of T and
hence the mother of @ Since thero are only two married couples one being that of
Q. the grandfather of R Le U must be married to 8. Thus, R and T will be both
children of Q and these must be the students. So, P, who remains, shall be the wife
of Q and she alone can be the nurse, Thus, U must be the contractor.

86. (2} : The hushand of P will be Q

87. la}: Clearly, R and T are children of same parents. So, R will be the sigter of T.

B8, (b} : P ia the nurse,

68, (b} : The two married couples are §Q, P and U, 8.

T0. {a) : Clearly, for definite the males are Q, the father and U, the grandfather,

T1. (b : The mother of clasa B female belongs to class B. So, her father was born in class A,
Thuas, her father's mother belonged to class A, and father's father was born in class
B. S0, the Grandfather belongs to clase B and Grandmother belongs to class A
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72. ic) : The boy born in class B will marry & girl of class A. Se, the daughter will belong to
class A Thus, (a) is false.
Since the boy's daughter will belong to class A, she would marry a boy of class B
and s the son-in-law would be from class B. 8o, (5) is false.
The boy, born in class B, will have mother born in class B and father born in class
A. S0, hiz uncle {i.e. mother’s brother or father's brother) can be from class A or B,
Sa, () is true,

73. (o) : A girl of class B will have mother born in class B and so the mother's brother will
also belong to elass B, Since people of any class cannol marry the members of their
own class, so the condition in (o) ia not permissible,

TYPE 3 : CODED RELATIONS

In such questions, the relationships are represented by certain codes or alymb-nla
such as +, -, %, +. », [ ete. Then relationships between certain persons, given m
the form nf th!na mds.u are to be analysed.

Ex. 1. If A+ B means A is the sister of B; A - Bmeamﬂmthew!wr#ﬂ'ﬁnﬂ
means A is the doughter of B, which of the following shows: the relation that
E is the maternal uncle of D ? .
(@ D+FxE (B)D-FxE (c) DxF +E
(d)DxF-E {e) None of these. 7 :

Sol. Clearly, E is the materpal uncle of D means D'is the daughter of the gister
isay F)of E ie. DxFa E.
Hence, the answer is (c). _

Ex. 2. Read the following information carefully and ansiwer the guestions
that follow :
A+B memdmthemnq"ﬂzﬁ B means A is the wife of B; A x B means
A is the brother of & h*ﬂ*fmﬂhnﬁ is the mother of B and A = B means A
is the sisfer n{ﬂ,

1. What does P #R~ Q mean 7

(a) Qs the father of P. (b) Q is the son of P,

(c) ﬂ ,um;a of P, (d) @ is the brother of P,

. What &ou;fxﬂ Q mean ?

1!',::'! P is the brother of R. (b} P is the father of @
#{e) P is the uncle of Q. {d) P is the nephew of Q.
4:"What does P= R +Q mean ?

{a) P is the aunt of Q. (h) P is the daughter of Q.
"7 {e) P is the niece of Q. td) P is the sister of Q.

4. What does P= R + Q mean ?
{a) P'is the aunt of Q. th) P iz the sister of ).
{c) § is the niece of P. id) @ 18 the danghter of P.
Solution ;

1. Clearly, P+ R - Q means F iz the son of R who ia the wife of Q Le. @ is the father of P.

Hénce, the answer is (a),
2. P=R+Q means P ia the brother of R who is the mother of @ Le. P is the uncle of Q.
Sa, the answer ia (o).
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P=R+Q means P is the sister of R who is the son of G Le. P is the daughter of Q.

5o, the answer is (h).
P=R+Q means P iz the sister of R who is the mother of § Le P is the sunt of Q.
So, the answer is {a).

1.

| EXERCISE SC |

P + @ means P iz the brother of @; P- Q means P is the mother of @ and P = Q
means P is the gister of Q. Which of the following means M is the maternal uncle
of R ¢

lc) M+K+R b M-R+K ey M+K-HR

i M+K=R #) None of these

If A+B means A is the brother of B; A+ B means A is the father of B and
A = B means A is the sister of B, which of the following means M is the uncle
of P ? (8.B.LP.O. 1967)
(@) NxP+M (B)M+S+R+P (c) M*Nx P
dIM+K+T=P (e} None of these.

the questions giver below it :

Directions (Questions 3 10 6) : Read the following informa
Aa anana.{ulﬁed&g;ﬁhaf‘ﬂ ﬁxﬂmiummﬁﬂnndﬂ B

means A is the wife of B.

3.

&c

If P xQ-8, which nﬂhuihllawmgiltm L

{a) 8 is wife of Q (b) S iz father of P {c) P is daughter of Q
id) Q is father of P {e) None of these

If T-S=B-M, which of the following is not true ?

(z) B iz mother of 8 (6) M is husband of B ic) T is wife of 8

(d) S is daughter of B {e) S is son of B

IfZxT~8xl +P, what is U to Z.

{a) Mother () Grandmother {c) Father

(d) Can't be determined fe) None of these.

Fuﬁ!&mf’mlheamterafﬂ P+ Q means P is the father of @ P - @ means
P isthe mother of §. Which of the following means § is the qunt of T' 7

@) T=M+8 b)S+TxM () SxM+T

id)S=M+R-T {e) None of theas (B.S.R.B. 1987)

If A+B means A is the son of B; A-B means A is the husband of B: AxB

means A iz the sister of B, then which of the following shows the relation @ is

the maternal uncle of P 7

fa) P+B-R=xQ () P-B+Rx@Q e} P+BxR-Q !

{diPxB-R+Q {e) None of these

If A+ B means A is the mother of B; A+ B means A is the brother of B, Ax B

means A is the son of B and A - B means A is the daughter of B, which of the

following means C is the niece of D ?

{eyD-C M D=P-C ed)C-P+D (d) P+D=+C eyD-P+C

IrXoY means X is the wife of ¥; X*Y means X is the son of Yand XO Y

means X is the sister of ¥, which of the following would mean that A is the

daughter of B 7
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(@) A*CODoB byAaC+DOB c)AOCoD*B
idy AOC*DoB (g} None of these

Directions (Questions 10 to 12) : Study the information given below and
answer the questions that follow :

A + B means A is the daughter of B; A - B means A is the husband of B; Ax B
means A iz the brother of B.

10. If P+ Q - R, which of the following 15 true ?

{a) R is the mother of P th) R is the sister-in-law of P

ic) B is the aunt of P i) R is the mother-in-law of P
11. If P @ + R, which of the following is true ?

(a) P is the brother of R (b} P is the uncle of R

ic) P i5s the son of R {d) P is the father of R
12. If P+ Q = R, which of the following is true 7

{a) P i= the niece of R (b) P ia the daughter of R

(¢} P is the ecousin of R (d) P is the daughter-in-lawsof R¢

19. If (A) P+ Q means P is the brother of @,
(B) P« Q means P is the father of Q:
(C) P - means P is the sister of Q,
which of the following replmnts S is thesniece of T §
(@ T«M+8-K th) K-SxM+T ) T+Mx5-K
dT=S+M-K ie) Nﬂnaﬂ'ﬂlﬂl (Bank P.0. 1995)
14. To find out the answer to the above question, which of the statements can be
dispensed with ?
{a) Aonly (b)B onlys () Conly (d) B or Conly () All are necessary
15. If P+ Q) means ﬁmﬁe WQ{Q, P+ Q means P is the sister of @ and
P « @ means Pum .nm of &, which of the following shows A is the daughter

of B { {Bank P.0. 1808)
mi,ﬁg,gq.h By BaCxA el DxB+C+A
() A+DxB (e) None of these

18. X - ZMX:; the mother of Z; X » 2 means X is the father of £ and X+ Z
,maan.a“r:s the daughter of Z. Now, if M = N = T + @, than which of the following

i not true ? (B.8.1L.B. 1998)
Ma) T is N's daughter (b) Niswifeof @ (¢} M is mother-ig-law of @
(d) @ is wife of N {e} T is granddaughter of M

Directions (Questions 17 to 24) : Read the following information carefully
and answer the questions given below it :

A + B means A is the father of B; A-B means A is the wife of B; A x B means
A is the brother of B: A+ B means A is the daughter of B.
17. If P+ R + 8 + @, which of the following is true 7

(a) P is the daughter of §Q i) Q is the aunt of P

(¢} P is the aunt of Q (d} P is the mother of Q
18. If P- R + @, which of the following statements is true ?

{a) P iz the mother of @ (b) Q is the daughter of P

(c) P iz the aunt of Q (d) P is the sister of Q
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20.

If Px R+ Q which of the following statements is true 7

{a) P is the uncle of Q (b} P is the father of Q
{c) P is the brother of § (d) P is the son of Q
If P x R - @, which of the following is true 7

{a) P is the brother-in-law of Q ib) P is the brother of Q
ic) P is the uncle of @ {d) P is the father of Q
If P+ R+ Q, which of the following is true ?

(a) P is the brother Q (b} P is the son of Q

{c) P is the husbhand of § (d) P is the father of Q
If P+ R +Q, which of the following is true ?

‘{a) P is the father of @ (b} P iz the brother of Q
ie) P is the mother of @ (d) P ig the sister of Q
If P xR + Q, which of the following is true 7

{a) P is the uncle of @ {6) P is the father of Q

{¢) P is the brother-in-law of Q {d) P is the grandfather of @

If P - R x G, which of the following is true ?
{a) P is the sister of Q tb}ﬂuthahuahuuluﬁ‘
() P is the sister-in-law of Q (d) Qis the somof P~

L. (c): M is the maternal uncle of R means M is ﬁ:mer of the mother isay K) of R {.e

M+K-R

2. id): M iz the uncle of P means:M. is T.he brother of the father (say K) of the sister (say

T}ufFle M+K:TxE

B (b): PuQ- munl"ii‘lhnimdﬂwbnmthawifeoﬂ!u P in the son of 8 or § is

the fnther of B.

4. (d): T- E,@:B-_Hmmthhawﬂaofﬂ-whuu the zon of B who is the wife of M ie

Tis the wife of the =on of M (father) ie. T is the daughter-in-law of M. But as this
isﬁulﬁimﬂthe choice, so the fact in (d) derived from 8 = B is true,

5.1&1‘;_,E:r‘!‘“—ﬂn:UmeanaZu:lhemofTwhuuﬂmmfea{EﬁhnuﬂuncmufUi.g,

Z isthe son of S who is the son of U ie. Z is the grandson of U or U is the grand-
‘mother or grandfather of Z. From the choice, () is true,

B.(c): 8 is the aunt of T means § is the sister of the father (say M) of Tie SxM+T.
7. la): Q is the maternal uncle of P means P is the son af the sister of Q ie. P is the son

of the husband (zay B) of the sister (say R) of Q L (P+B-R=x Q)

8.(c): C s the niece of D means C is the daughter of the brother (say P)of D Le. C-P+ D.
8. (d): A is the daughter of B means A is the sister of the son (say C) of the wife (say-D)

of Bie A C»DoB.

10.{a): P+Q~R means P is the daughter of @ who is the husband of R ie. R is P's mother,
11.(e): P« @+ R means P is the brother of @ who is the daughter of R fe. P ia the

son of R,

12. {a}: P+ @« R means P is the daughter of § who is the brother of R ie P is the niece
of B

13. (¢} : § is the niece of T means T is the brother of the father (say M) of S ie. T+ M x 8.
14. (e} : Clearly, statement {c) can be dispensed with while answering the above question.
15. i) : A is the daughter of B means A is the sister of the son (say [N of B ie. A+DxB.
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L6. {d}:

17.4c) =

18. {a):
19. id}:

20. {a} :
21.4c} :
22 (d) :
28. (a)

24. (¢} :

M-N =T+ Qmeans M is the mother of N who is the father of T who is the daughter
of Q i.e. M is the grandmother of the daughter of @ Le. M ie the mother of Q. Since
this is not given in the choices, 2o the fact in (d) derived from N « T + Q is true.
P+ R+ 8+ 0Q means P ia the daughter of B who is the father of 8 who is the father
of @ i.e. P is the sister of the father (S) of @ i.e. P is the aunt of Q.

P-R+Q means P is the wife of R who is the father of Q i.e. P is the mother of Q.
P«R+Q means P is the brother of R whe is the daughter of @ i.e. P is the son
of Q.

P xR - Q means P is the brother of R who is the wife of Q L.e. P is the brother-in-law
of Q. i

P+R+Q means P is the father of B who is the daughter of @ ie. P is the father
of R and Q is the mother of R ie. P is the husband of Q.

P+ R +Q means P is the daughter of R who is the father of Q i.e. P is the sisterof
Q.
P« R+ Q means P is the brother of R who is the father of Q Le. P is the uncle
of Q.
P - R x @ means P is the wife of R who is the brother of @ i.e, Pis the sister.in-law
of Q.




6. PUZZLE TEST

This section comprises of questions put in the form of puzzles involving certain
number of items, be it persons or things, The candidate is required to analyse the
gwven information, condense it in a suitable form and answer the guestions asked.

The questions on Puzzle Test may be of any of the following types :

I. Classification Type Questions
II. SeatingPlacing Arrangements
1. Comparison Type Questions
V. Sequential order of things
V. Selection based on given conditions ‘

VI. Questions involving family members — their relationship, their professions,

their preferences ete.

VII. Jumbled up Problems

TYPE 1: CLASSIFICATION TYPE QUESTIONS

This type consists of questions in which eertain items belonging to different groups
or possessing different qualities are given along with some clues with the help of
which the candidate is required to group and analyse the given items and answer
the questions accordingly.
Ex. 1. Read the following information carefully and answer the questions that follow :

There are six cities A, B, C, D, E and F.

A is not a hill station.

B and E are not historical places.

D15 'not an industrial city.

A and D are not historical cities.

A and B are not alike.

1. Which two cities are industrial centres 7

a)Aand B (M Eand F )Cand D (@ Band F (1A and D
2, Which two cities are historical places ?
(e Aand C () Band F ) Cand F (diBand E (el Aand D
3. Which two cities are hill stations ?
fa)Aand B (b} C and A ic)Band D (d)A and F (¢} None of these
4. Which city is a hill station and an industrial eentre but not a historical place ?
{a) E 6y F e A (d) B (e} C
6. Which two cities are neither historical places nor industrial centres 7
fadAand B (&) D and E c)Fand C (d)Band D (&) None of these

242
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Splution : The given information can be analysed as follows :

- __P. B | c D E F
LH"“E“I . pr ® . ] i |
| Industrial v : Y 3 X !
| Hill Stations | ® . '__"' L ¥ v

Sines A and B are not all.k& and beeause A is industrial, B cannot be industrial but only
a hill station. So, we put a cross for B across Industrial.

1. Clearly, A, C, E and F are Industrial Centres. So, the answer is (b},
2. Clearly, C and F are Historical places. So, the answer is (c),
3. Clearly. B, C, D, E and F are Hill stations. So, the answer is {¢).

4. E alone is a Hill station and an Industrial centre but not a Historical place. Sn, the
answer is (ol

5. B and D are neither Historical places nor Industrial centres. So, the lnnlr_,;’g (&).

Ex. 2. Read the following mﬁrmnﬁm carefully and answer the qualimm?
(i) Five friends P, @, R. 8 and T travelled to five ﬂlﬂ'ﬂﬁlﬂ& mﬁq of Chennai,
Caleutta, Delhi, Bangalore and Hyderabad by five nt modes of transport
of Bus, Train, Aeroplane, Car and Boat from Hull,'ibni.”
(ii) The person who travelled to Delhi did Imt#.rivn_l by boat.
(tif) R went to Bangalore by car and q wed’tﬂ Caleutta by aeroplane.
(iv) S travelled by boat whereas T tra‘l‘ﬂﬂﬂ by train.
() Mumbai is not connected by bus to Duliu and Chennai. (Bank P.O. 1905)
1. Which of the following combinations of person and mode is not correct ?

ia) P — Bus [Eﬁr 3 ﬁ.ernplnnu (e} R — Car

{d) 5 — Boat — Aeroplane

2. Which of t‘hp, following wmbmnhma is true for 5%

(a) Delhi — ‘Bus ib} Chennai — Bus {c} Chennai — Boat

() M‘iﬂlﬂﬁu&h {e} None of thess

3. Which, 'I:tf Hlé following combinations of place and mode is not correct ?

"~ Ha) Delhi — Bus (b) Calcutta — Aeroplane lc} Bangalore — Car
(@) Chennai <+ Boat  (e) Hyderabad — Bus

4. The person travelling to Delhi went by which of the following modes ?

{(a) Bus (b} Train (e} Aeroplane {(d) Car {e) Boat
5. Who among the following travelled to Delhi ?
{a} R ib) 8 )T {d) Data inadequate (e) None of these

Solution : The given information can be analysed as follows |
(A} Mode of Transport : R travels by Car, @ by Aeroplane, 5§ by Boat and T by Train.
Now, only P remains. So, P travels by Bus,
{B] Place of Travel : B goes to Bangalore, § to Calcutta. Now, bus transport is not
available for Delhi ot Chennai. So, P who travels by Bus goes to Hyderabad. 5 travels
by boat and henee, by (if), did not go to Dalhi. S0, 8 goes to Chennai. Now, onlv T
remaing. So, T goes to Delhi )
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Place Mode
P Hyderabad Bus
Q Calcutta Aeroplane
R Bangalore Car
8 Chennai Boat
T Delhi Train

Clearly, the incorrect combination is T — Aeroplane. So, the answer is (e},
Clearly, the correct combination for 8 is Chennai — Boat. So, the answer is (£).
Clearly, the incorrect combination is Delhi — Bus. So, the answer is (a).
Clearly, T travelled to Delhi by Train. So, the answer iz (&)

Clearly, T travelled to Delhi. 8o, the answer is (¢),

EXERCISE 6A
Directions (Questions I to 5) : Read the following information and answer

the questions based on If : (Bank P.O. 199¢)

In a school, there were five teachers. A and B were teaching Hindi and English.

C and B were teaching English and Geography. DnndAmhMHathmum
and Hindi. E and B were teaching History and French.

.

3.

‘i

5.

Who among the teachers was teaching maximum number of subjects ?

(a) A (b) B @C | @b (e) E

Which of the following pairs was tﬂ:]ﬁl'hﬂﬁ Geography and Hindi 7
(@AandB (b)BandC {)€and A (d)Dand B (e) None of these
More than two teachers were teaching which subject ?

(a) History  (b)Hindi (e} French  (d) Geography (e) Mathematics
D, B and A were teaching which of the following subjects ?

fa) Enduh oaly {56} Hindi and English {c) Hindi only

(d) English and Geography (e) Mathematics and Hindi

Whumﬂw teachers was teaching less than two subjects 7

{a) A ) B icy D {d) Data inadequate ({e) There iz no such teacher
Directions (Questions 6 fo 10) : Study the following information carefully

and answer the questions that follow (MLB.A. 1997)

6.

7.

B.

Madhu and Shobha are goed in Dramatics and Computer Science.

Anjali and Madhu are good in Computer Science and Physics.

Anjali, Poonam and Nisha are good in Physics and History.

Misha and Anjali are good in Physics and Mathematics,

Poonam and Shobha are good in History and Dramatics. _

Who is good in Computer Science, History and Dramatics ? '
(a) Amjali (b) Madhu {c) Shobha (d) MNisha

Who is good in Physics, Dramatics and Computer Science 7

{a) Shobha (b) Poonam () Madhu (d). Anjali :
Who is good in Physics, History and Dramatics ? {
{a) Poonam (b) Shobha (¢} Madhu {d) Anjali
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9. Who is good in History, Physics, Computer Science and Mathematics ?

{a) Poonam (h) Nizha e} Madhu id) Anjali

10. Who is good in Physica, History and Mathematics but not in Computer Science ?
{a) Madhu {B) Poonam {e) Nisha {ef) Anjali

11. Ravi is not wearing white and Ajay is not wearing blue. Ravi and Schan
wear different colours. Sachin alone wears red. {Central Excise, 18092)
What is Sohan's colour, if all four of them are wearing different colours 7
{a) Red i&) Blue (e} White {d} Can't say

Directions (Questions 12-13) : Study the following informafion and answer
the questions given below il :

{{) Kailash, Govind and Harinder are intelligent.

{ii) Knailash, Rajesh and Jitendra are hard-working.

{iif} Rajesh, Harinder and Jitendrs are honest.

{fv) HKailash, Govind and Jitendra are ambitious.
12. Which of the following persens is neither hard-working nor ambitious 7

{a) Kailash (b} Govind (¢} Harinder  (d) Rajesh (¢} None of these
13. Which of the following persons is neither honest nor hard-working bot is ambitious 7

(a) Kailash (b)) Govind {c) Rajesh (d) Harinder fg) None of these

Directions (Questions 14 to I7) : Read the following information and answer
the guestions that follow : (Railways, 1993)

Four youngmen Raj, Prem, Ved and Ashok are friendly with four girls Sushma,
Kusum, Vimla and Poonam. Sushma and Vimla are friends. Ved's girl friend does
not like Sushma and Vimla, Kusum does not gare for Ved. Prem's girl friend is
friendly with Sushma. Sushma does not like Faj.
i4. Wheo is Raj's girl friend 7

{a) Sushma (b} Kusum {c} Vimla {d) Poonam -
15. With whom iz Sushma friendly ?

{a) Ray ib} Frem e} Ved {d) Ashok
16. Who 1z Poonam's boy friend 7

ta) Ashok L (b)Y Ved fc) Prem 1) Raj
17. Who does pot like Sushma and Vimla ?

{a) Poonam () Raj ic) Ashok id) Ved

18. In a ericket season, India defeated Australia twice, West Indies defeated India
twice, Australia defeated West Indies twice, India defeated Mew Zealand twice
and West Indies defeated New Zealand twice. Which country.has lost most
number of times ?

(a) India {b) Australia {c) New Zealand (d) West Indies

(L. Tax & Central Excise, 1983)

Directions (Questions 19 o 21) : Read the follmping information and ansoer
the questions given belmw it : '

Six students A, B, C, D, E and F are sitting in the field. A and B are from Nehru
House while the rest belong to Gandhi House. D and F are tall while the others are
short. A, C and D are wearing glasses while *!v others are not.

18. Which two students, who are not wearii rinsses are short ?
a)Aand ¥F (b CandE () B ani ! (efy Eand F (¢} None of these
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20. Which short student of Gandhi House is not wearing glasses ?

(a) F (b) E (cy B d) A {e) Data inadequate
21. Which tall student of Gandhi House is not wearing glasses ?
a) B (b) C ) E {dy F {e) None of these

22, Six students A, B, C, D, E and F are sitting in the field. A and B are from
Delhi while the rest are from Bangalore. D and F are tall while others are short.
A, Cand D are girls while others are boys. Which is the tall girl from Bangalore 7
(a) C 6) D e} E id) F

(I. Tax & Central Excise, 1986)

23. Dn a shelf are placed six volumes side-by-gside labelled A, B, C, D, E and F.

B, C, E, F have green covers while others have yellow covers. A, D, B are new
volumes while the rest are old volumes. A, C, B are law reports while the rest
are medical extracts. Which two volumes are old medical extracis and hawve
green covers ? . (Assistant Grade; 1996)
fa) B, C cC D ) C, E {d) E, F

Directions (Questions 24 to 28) : Read the following infnmaﬂnuﬂﬂﬁllfy
'and answer the questions given below it :

There are six persons A, B, C, D, E and F in a school. Each of the teachers
teaches two subjects, one compulsory subject and the ﬁhﬂ‘ ppﬁnnn subject. I's
optional subject was History while three others have it as compulsory subject. E and
F have Physics as one uf'thdirjﬂ;jem F'a mﬂm aubjetl!; s Mathematics which
‘is an optional svhject of both C and E. History and English are A's subjects but in
terms of compulsory and optional subjects, they are just reverse of those of D's.
Chemistry is an optional subject of enly one of them. The only female teacher in the
school has English as her mmpulmq subject.

24. What is C's compulsory lum ?
(a) History  (b)Physics  (¢) Chemistry (d) English () Mathematics
25. Who is a female member in the group 7

(a) A, L (FRE™. fe) C (d) D (e) E
Whhhﬂhﬂﬂnwnmhnmmemmpulmymﬂnpmnﬂmﬂmctamﬂamost’
(a) D (b) B (el A d) C (e} None of these

#7. Disregarding which is the compulsory and which is the optional subject, who
has the same two subject combination as'F ?
fa) A ib) B (c) E id) D {e) None of these
28. Which of vhe following groups has History as the compulsory subject ?
m} A C, D MHEB.C,D (wC D dl A B.C (etA D
Directions (Questions 29 to 32) : Read the following information carefully
and answer the questions that follow : (Bank P.0. 1996)
(i) Jayant, Kamal, Namita, Asha and Tanmay are five members of a family.
(ii) They have their birth dates from January to May, each member in one of
these months.
(itz) Each one likes one particular item for his'her birthday out of Hengali
Sweets, Chocolates, Pastries, Ice Cream and Dry Fruits.
(ivd The one who likes Pastries is born in the month which is exactly middle
in the months given.
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(v} Asha does not like Ice cream but brings Chocolates for Jayant in February,
(i} Tanmay who is fond of Bengali sweets is born in the next month immediataly
after Namita.
(vif) Namita does not like Dry fruits or Ice cream.
29, What is the choice of Asha 7

{a) Pastries (b) Dry fruits ic) Bengali sweets
(g} Cannot be determined (&) None of these

30. Which combination of month and item is true for Jayant 7
{a} March — Pastries {#) February — Pastries (¢} February — fee cream

(d) Cannot be determined {2) None of these
81. What is the choice of Kamal ?

(o) lew eream () Bengali swesets (¢} Dry fruits
i) Cannot be determined (2) Mone of these
32. In which month was Kamal born ? i
{a) January ih) May e} January or May
() Data inadequate {2} Mone of these
Directions (Questions 33 fo 37) : Read the following information carefully
and answer the guestions that follow : (SR.ILP.O. 1987)

iy P.Q, R.5 Tand U are six students procuring their Master's degree in six

different subjects — English, History, Phiumphy Phyeics, Btatistics and
Mathematics.

{ii} Two of them stay in bostel, two stay mmﬁﬂ[-gﬁlﬁ{l‘ﬂl and the remaining
two stay at their home.

(iif} R does not stay as PG and studies Philogophy.

{iv) The students studying Statistics and History do not stay as PG.

{e} T studies Malhemﬂﬂ_l_;l';nd 8 studies Physics,

(vi} U and S stay in _hogtel. T stays as PG and Q stays at home.

33. Who studies English 2

(a) R b 8 ed T dy U () None of these
34. Which of the following combinations of subject and place of stay is not correct ¥
ia) English — Huostel (b} Mathematics — PG {c} Philosophy — Home

() Phveics — Hostal fe) None of these
38, Which of the following pairs of studentz stay one each at hostel and at home ?
o e} QR b} SR fc} US (d) Data inadequate (e} None of these
86, Which subject does § study ?

{a) History (b} Statistics (c) History or Statistica
{d) Data inadequate . e} None of these
37. Which of the following pairs of students stay at home 7
" a) PQ (b QR {c) RS (d) 8T (2) None of these
Directions (Questions 38 to 42) : Study the following information and
answer the guestions given below it : {Stenographer’s Exam, 1084)

Hohit, Kunal, Ashish and John are students of a school. Three of them stay far
from the school and one near it. Two study in class TV, one in class V and one in
class VI They study Hindi, Mathematics, Social Science and Science. One is good
at all the four subjects while ancther is weak in all of these. Rohit stays far from
the school and is good ai Mathematics only while Kunal i2 weak in Mathematics
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only and stays close to the school. Neither of these two nor Ashish studies in class
V1. One who is good at all the subjects studies in class V.

38. Name the boy who is good at all the subjects,

ta) Rohit {b) Kunal (c) Ashish {e) John
39. Name the boy who is weak in all the subjects,

{a) Rohit (&) Kunal (e} Ashish {d) John
40, Which two boys are good at Hindi 7

(2) Rohit and Kunal (6} Kunal and Ashish

(c) Ashish and John {d) John and Rohit
41. Which two boys are good st Mathematics ?

(a) Rohit and Ashish {b) Kunal and Ashish

{c} John and Ashish (e} Rohit and John

42, Other than Rohit and the boy good at all the subjects, who else stays far from
the school 7

{a) Rohit (6} Kunal (e} Ashish fd)dohn
Directions (Questions 43 to 45) : Study the given information mwhuy
and answer the questions that follow : (Bank P.O. 1997)

{1 Thmmsﬁﬁmﬂ:ﬁ,&ﬂ D, E and F.
{ii) Each one is proficient in one of the games, namely Badminton, Volleyball,
Cricket, Hockey, Tennis and Polo.
(iii} Each reu:luna a di'lu'mtmhurod m;ﬁun-{.yjellwi green, black, white, blue
! and
(ir) D plays Polo and owns a yellow coloured ear.
{r) C does not play either Tennis or Hockey and owns neither blue nor yellow
coloured car.
{vi} E owns a white car and m‘ﬁadmmtnn
(vii) B does not plq']hnm.ham a red coloured car.
fwiti) A plnjaﬂl'hhﬂudmn a black car.

+3. W'hn]im Volieyball ?
b)C ) F

: tfiﬂntamﬂequata {2} None of these
44. Which eoloured car F owns 7

{@) Green (b) Blue (¢) Either Green or Blue
{d) Data inadequate {2) None of these

45. Which of the following combinations of eolour of car and game played iz not
eorrect 7
{a) Yellow — Polo (b) Green — Tennis (c) Black — Cricket
id) Red — Hockey {e) None of these

48, In a group of six women, there are four dancers, four vocal musicians, one
actress and three violinists. Girija and Vanaja are among the violinists while
Jaln;aandﬂhmhadomtknuwhnwmpla;unthamhn.EﬂimhnandTnnq]am
among the dancers. Jalaja, Vanaja, Shailja and Tanuja are all vocal musicians
and two of them are also violinists. If Pooja is an actress, who among the fol-
lowing is both a dancer and a viclinist 7 (LA, 1883)

(a) Jalaja (b} Shailja {c) Tanuja {(d) Pooja
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ANSWERS :
Questions 1 to &
The * given information may be analysed as Lmdnr
T English | Hindi | Mathematics Goography | History | French
A o ) o [ _'i
B N ) ) ¥ | |
C W | )
D y ¥
| E v ¥
1. (b} ; B teaches maximum number of subjects Le 5.
2. {e) . Only B teaches both Hindi and Geography.
3. (b} : Three teachers were teaching Hindi — A, B and D.
4.(c): D, B and A were teaching Hindi
B.(¢) : Mane of the teachers was tﬁiﬁﬂl’n then two subjects.
Questions 6 to 10
The given information can be analysed as under :
Dramatics | Computer Se, Physics History Mathematics
Madbu | < v "a '
Shobha L] o E'l
] Angali | o 'L . o o
P'mnm N 3 | + | W
Nisha | 'l W | ) : W
8. (¢) : Shobha is good in Cumpn';l-r B-cigm& 'Eiumnr and Dramatics.

T.0ch : Madhu i= good in Physics, Dramatics and Computer Seience,
B. (a): Pmmgxpﬁﬂin Physics, History and Dramatics.
9. (d) : Anjaliis gmd in History, Physics, Computer Science and Mathematics.
10. i) : Nlhh‘wlﬂ Ph]"llm History and Mathematics but not in Computer Science,
1L idh: The ﬂ:u.rﬂl ﬁur and some more information are required.
Questions 12-18°
We ‘may prepare & table as under :

Intelligent Hard-working | __ Honest Ambitious
Kailash Y ! Y
Govind y v
| Harinder y | o
| Rajesh i |
Jitendra | -.I.- | ! ! Y
12 (¢} : Harinder is neither hard-working nor ambitious.

18 ib)

Questions 14 to 17

Sushma and Vimla are friends and Prem's girl friend is friendly with Sashma. This means
that Prem's girl friend is Vimla.

Govind is ambitiows but neither honest nor hard-working.
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Reasoning

Ved's girl friend does not like Sushma and Vimla. 8o, she is either Kusum or Poonam.

But Kusum doss not care for Ved. So, Ved's girl friend is Poonam.

Sushma does not like Raj. So, Raj's girl friend s Kusum,

Clearly, Ashok's girl friend is SBushma.
; Raj’s girl friend is Kusum.
Sushma is friendly with Ashok.
Poonam's boy friend is Ved.
Ved's girl friend fe., Poonam does net like Sushma and Vimla,
Australia was defeated twice by India.

15 {d) :
16 ib) :
17. (a2
18. (¢} ;

India was defeated twice by West Indies.
West Indies was defeated twice by Australia
New Zealand was defeated twice by India and twice by West Indies ie. 4 times in all.

Questions 19 to 21
We may prepare o table s under ; . [
Nehru House | Gandhi House | Tall Short | Glasses | No glasses
y — ] T 3
B A ¥ F
c o v o
D 3 ¥ W
E ] ¥y B W
F v v y
19.(c): B and E are shurt and nutwurlncm
20, () : E belongs to Gandhi Hn%mlhﬂﬁhﬂ does not wear glasses,
21. id) ; F belongs to Gandhi Hﬁlﬁ,’h tall and is not wearing glasses.
22 (b : ~ Delhi | Bangalore Tall Short Girls Boys
4R i
.rhl- ‘r—.- v i |
" BT v N
] o L J | ) - ]
e =@ B ?
F | A | Y |
Clearly, D is the tall girl from Bangalore.
23. id) - | Green Yellow New old Law | Medical |
| Cover Covar Volume | Volume | Reports | Extracts
| A ) k) y
B Y | = 4 4
C Y W V.
D i ] <
E N | 3 v
| v :

Clearly, E and F are old volumes which have green covers and are medical extracts,
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Questions 33 to 37

(I} T staye us PG: § wtays in hostel.
17 stays in hostel and @ stays at home.
Now, R does not stay as PG, So, P stays as PG.

Clearly, R stays at home,

Reasoning

(M} 8 sudies Physics; B studies Philosophy and T studies Mathematics, Now, P who
stays as PO does not study Statistics or History. 3o, P studies English.

| Place af .ltay_ - q,_SE]leﬂ_ ol
P PG English
Q | Home Statistics or History
R | Home Philasophy
s Hostel Physics
T | FC | Mathematica
U | Hostsl | Btatistics or History

3. e} : P studies English.
34 la) ; Clearly the ineorrect combination is English — Hostal
85. (41 S stays in hostel and R stays at home.

38. ic) : Q studies History or Statistica.
37. (b} ; Q and R stay at bome.

Guestions 38 Lo 42

i1 Kunal stays close to school. So, the other threa — Hohit, Ashish and John stay far

from the school,

{IlY Rohit, Kunal and Ashish do not stedy in elass V1. So, John studies in class VI
4 Rohit and Kunal are ot good at all subjects and John is in class VI. S0, Ashich is
good at all subjects and studies in class V
Clearly, Rohit and Kunal study in class IV,
(11} Rohitis good ai Mathematics, Kunal iz weak in Mathematies, Ashish is good at all
the subjects. ﬂuarlf, John is weak in all the uu'l:nu:l.s

38. Ic) : Ashish is good at all the suhjects.
38, (d) : John is weak in all the subpects,

4. (b1 : Kunal and Ashish are good at Hindi.
41. {a) : Rohit and Ashish are good at Mathematica.

42, (d) : Other than Rohit and Ashish, John stays far from school,

Questions 43 o 45

“Stay Class | Goad at Weak in i
Rohik Far v | Mathematica Hindi, Science.
E-Dci,uL_Sc:i.efn«ue 5
Kunal Close i v Hindi, Science, Mathematics
Social Science ]
Ashish Far | v All subjecta
John Far | Vi All subjects

() D plays Pole; E plays Badminten; A playve Cricket. C does not play Tennis or Hockey.
50, C plays Volleyball,

B does not play Tennis. Su, he plays Hockey. Clearly, F plays Tennis.
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Questions 24 to 28
The given information can be analysed as follows :
Let 10" denote optional and *C' denote compulsory.

A B c D E F

History c c c 0 = =
Physics i o = = C 0
Mathematics - ; - (8} - O [

| English 0 = = c e ==
| Chemistry - 0 = = = =

Cne compulsory subject of F is Mathématics. F has Physics as one of the subjects. So,
Physics is optional of F. F has Mathematics as optional and Physics as one subject.

8o, Physies iz the compulsory subject of E. A and D) have the same subjects — History
and English. D has History as optional subject and so English is the compulsory subject of
D). SBubjects of A and D are reverse in regard of optional and compulsory.

S0, A has History as compulsery subject and English as optional.

Chemistry is the optional subject of only one teacher. So, it is the optiopal of B, which
only remains ' "

y WuB kna;wcthnt History is the compulsory subject of three teachers. So, it i8 compulsory
:'.A., A
D is the teacher having English as her compulsory subject
S0, D is the only female teacher.
24. la) : C's compulsory subject is History.
25, (d) - D i= the only female teacher. :
26. (¢) : E has same subjects as those of F'but the sompulsory and optional subjects of E are
reverse of those of F. Bo, the answer js ‘none of thess'.
27. (¢} : Clearly, E has the same subjeet combination as that of F.
28. (d) : Lamdchmﬁnmuthmmpuimww
Questions 29 to 3.
51][““!.! tmuﬂhnud:mewhkuﬂamthmMm

8 or Iee cream_ So, Namita likes Pastries, Asha does not like Ice cream.
"ﬂiﬁmﬁmid’ﬂﬂr fruitz. Finally, Kamal likes Ioe cream.

Il Date-of Birth : The one who likes Pastries ie, Namita is born in the middle of

months given ie, in March. Tanmay is born in next month after Namita je, in
April. Jayant's birthday is in February.

, | Chaice Date of birth

| Jayant | Chocolates February

{ Kamal | Ice cream January or May
Namita Pastries March
Asha Dry fruits January or May
Tanmay Bengali aweets April

29. (d) : ‘The choice of Asha is Dry fruits.

30. (e} : The correct combination for Jayant is February — Chocolates,
31. fa) : The choice of Kamal is Ice cream.

32, (e} : Kamal was born in January or May.
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11} D has vellow car; E has white car; B has a red car; A has a black car.
Now, C does not have a blue cur. So, colour of C'a car is green.
Clearly, F owna a blue car.

T Game Cﬂlnurufﬂu.r—|
| A Cricket | Black |
B Hockey Red
C Valleyhall Green
D Polo Yellow
E Badminton White
. Tennis Blue

43, (b): C plays Volleyball.

44. (b)Y : F owns a blue car.

48. (b} : Clearly, the incorrect combination is Green — Tennis.

48. (¢) : Tke four voeal musicians and one actress in the group are given. Two dancers are
Shailja and Tanuja. Two violinists are Girija and Vanaja. Since Jalaja and Shailja

cannot be viclinists, 8o, rembining two violinists are Tanuja and Peoja. M‘Tﬂn—
uja is both a violinist and & dancer.

TYPE 2 : SEATING/PLACING ABRANGEMENTS

In this type of questions, some clues mgarding mthtnr]:ul&mng sequence (linear
or circular) of some persons or items is given. The eandidate is required to form the
proper sequence using these clues and answer the questions accerdingly.

Ex. 1. Read the following information carefully and answer the questions
given below : e

Six persons A, B, C, D, E and F are sitting in two rows, three in each.

E is not ntﬂwmiqfhymw

D is second to the laft of F.

th&n ighbour of E, is sitting diagonally ﬂppﬂmtﬁ to D, -
B is the neighbour of F. g
1. Which of the following are sitting diagonally opposite to each other ?
~ A@YFand C (b)Dand A ec)AandC (d)Aand F (e)Aand B
2. Who is facing B ?
. (@A ib) C (e} D d) E e F
3. Which of the following are in the same row ? :
@)Aand E (b)) E and D c)Cend B (d) A and B (e} C and E
4. Which of the following are in one of the two rows 7

(a) FBC (h) CEB {c) DBF (d) AEF (e) ABF
5. After interchanging seat with E, who will be the neighbours of D in the new
position 7

fa)Cand A (b) F and B (¢)OnlyB () OnlyA  (e) Onty C

Bolution : The given information can be analysed as follows :
‘ E is not at end. So, E must be in the middle of one of the rows.
D iz second to the left of F. So, order of the row must be I — F.
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C is neighbour of E and is sitting diagonally opposite to D means C is under F in the
other row ie., D — F
— EC

@ P

B is the neighbour of F.
So, the arrangement must be D BF

A EC
Other than D and C {given), A and F are sitting diagonally opposite to each other, as
spen in the arrangement. So, the answer ia (d).
Clearly, E is opposite to B in the other row. So, E is facing B and the answer is (d).
Clearly, from amongst the given alternatives, A and E are in the same row. So, the answer
is la),
Clearly, from amongst the given alternatives, [, B and F are in the same row. So, the
answer is ().
Clearly, neighbours of E are A and C. So, on interchanging the seat with E, the new
aeighbours of D will be A and C. So, the answer is (a).

Ex. 2. Eight I:rmku are kept one over the other. Counting from the top, the second,

fifth and sixth books are on Plays. Two books on Plays are between twe books
on Composition. One book of Plays is between two books on Poetry while the
book at the top of the book of Literature is a book of Composition. Which
book is fourth from the top ?

(a) Plays (b) Poetry tcmnmpmmn (d) Literature

Bolution : We analyse the given information as fo

Let C denote ‘Compesition’, P denote ‘Plays’, ?Q'dennie Poetry’ and L denote ‘Literature’,

2 2 B 5 ] 7
= P = ’ P P = 5
- - - i P F C &
Po P Po - - = - .
¥ - - _ ¢ L

So, ﬂil arra.nxmm hmmel

1 2 3 4 5 [ 7 H
Po. P Po C P P C L

-ﬂlplrlj'. the fourth book from the top is o Compogition. 8o, the answer is (c).

Ex. 8. Read the following information and answer the questions that follow :

3.

(i} Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre.
{ii) E is to the left of D.

(itf) C iz between A and B.

{iv) F is between E and A

Who is to the left of B ?

{a) A by C ey D id) E (e} None of these
Who is to the right of C 7

{a) A (b) B ey D (d) E {e) F

Which of the above given statements is superfluous ?
{a) (i) (b i) {e) tiid) ) (iv) (e} None of these
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Solution : Clearly, in the circle the arrangement is as shown ! B D E
1.ic) : Clearly, D is to the left of B.
2. (ad : Clearly, A ib to the right of C.

a.

ied ; Since all the statements are nocessary to determine

the arrangement, none of them is superfluous. B 1 F
| EXERCISE 6B |
1. Four girls are sitting on a bench to be photographed. Shikha iz to the left of
Reena. Manju is to the right of Reena. Rita is between Reena and Manju. Who
would be second from the left in the photograph ? (Bank P.0. 1884}
{z) Reena (h) Shikha {e) Manju (e} Rita
2. There are five different houses, A to E, in a row. A is to the right of B and E
i to the lef of C and right of A. B is to the right of D. Which of the houses is
in the middle 7 i (C.B.L 1895)
fa) A B ) D drLE
3. In s March Past, seven persons are standing in a row. le standing left to R
but right to P. © is standing right to N and left io P, § y 5 i8'standing
right to B and left ks T, Find out wha is standing in a—ﬂ’dﬁ{é
@) P 7 R (- e) R idl O
_ {Assistant Grade, 1996)
4. Five children are sitting in a row. 5 is sitting next to P but not T. K is sitting
* mext to R who is sitting on the extreme left and T is not sitting next to K. Whe
are sitting adjacent to 57
iz} K and P (&) R and T ie) Only P
{d) Pand T -~ le} Insuificient information
5. Five girls are sitting in a row, Rashi is not adjacent to Sulekha or Abha. Anuradha

is not adjacent to Hulnlr.h; Rashi iz adjacent to Monika. Monika is at the middle
in_ the row, Then, Anuradha is adjacent to whom out of the following ?

(a) Rashi (B) Sulekha (e} Abha
) Huulkl. (e} Cannot be determined
Directions (Questions 6 fo 8) : Read the following information carefully

and answer the guestions givern below it : (Bank P.0. 1984)

5

(A) There are five friendes.

(B} They are standing in & row facing South.
(G} Jayesh is to the immediate right of Alok.
(DD} Pramod iz between Bhagat and Subodh.
(E) Subodh is between Jayesh and Pramod

Who ie at the extreme left end 7

{a) Alok {&) Bhagat (e} Subodh
{d) Data inadequate {e) None of these

Whao is in the middle ? '

(a) Bhagat (b) Jayesh (e) Pramod

i) Subodh le) Alok
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B. To find answers to the above two guestions, which of the given statements can
be dispensed with ?
{a) None ib) A only {c) B only {el) C only &) D only
9. Five persons A, B, C, D) and E are sitting in a row facing you such that D is
on the left of C and B is on the right of E. A is on the nght of © and B i8 on
the left of D. If E occupies a eorner position, then who is sitting in the centre 7

{al A by B () C d)yD (C.H.1 1985)
Directions (Questions 10 to 14) : Study the given information carefully
and answer the questions that follow : (L.LC. 1881)

(i) A,B,C,D, E F and G are sitting on a wall and all of them are facing east,

{if} C is on the immediate right of D.

{(izi) B is at an extreme end and has E as his neighbour.

(v} G is between E and F.

(v} D is sitting third from the south end.
10. Who is sitting to the right of E ?

(a) A bc fc) D (d) F mmonmm
11. Which of the foﬂmngpunufpmph are sitting at the WMT

(a) AB  (b) AE () CB (d) FB () Cancor be determined
12. Name the person who should change places with C such that he gets the third

place from the north end. w

(@) E BDF 47 % Bics (@D
13. Immediately between which of the fellowing pairs of people is D sitting ?
(a) AC (b) AF (c) CE (d) CF (e} Nome of these

14. Which of the conditions Iﬂ'tniu]gtm above is not reguired to find out the
place in which A is sitting ?
@G ) @) T @@ (@) Al are required () None of these
16 hmwmwﬂmdmnanw were flown an the masts in the
Mhy H tAssistent Grade, FPOE)
pf.ﬁmﬂica was to the left of Indian tricolour and to the right of the
r . The flag of Australia was on the right of the Indian flag but was
to t.hp.hﬁ'nf the ﬁag of Japan, which was to the left of the flag of China. Find
the two flags which are in the centre.
{a) India and Australia (b) America and India
~ {ec) Japan and Australia (d) America and Anstralia
16. Mr. A, Miss B, Mr. C and Miss D are sitting around a table and discussing
their trades.
(1) Mr. A sits opposite to cook.
{2) Miss B sits right to the barber.
{3) The washerman is on the left of the tailor.
{4) Miss D sits opposite Mr. C.
What are the trades of Aand B 7
{a) Tailor and Barber (b} Tailor and Cook
{c) Barber and Cook id) Washerman and Cook
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17. Sitting in a row in front of a camera, Mr. X is on the left of the person sitting
in the centre but is on the right of Mr. Y. Mr. P is on the right of Mr. Z and
Mr. R is on the right of Mr. P. Mr. R is the second person from the person
sitting in the centre. Who is the person sitting in the centre 7 (C.B.1. 1983)

() Mr. X () Mr. Y c) Mr. Z (d) Mr. R
Directions (Questions 18 fo 22) : Study the given information carefully
and answer the guestions that follow : (ULT.L 1883)

(i1 Eleven students, A B, C, D, E, F, G, H, 1, J and K are sitting in the first
row of the elass facing the teacher,
{if) D who is to the immediate left of F is second to the right of C.
(i) A is second to the right of E, who is at one of the ends.
(i} J is the immediate neighbour of A and B and third to the left of G.
iv) H is to the immediate left of D and third to the right of 1.
18. Who iz sitting in the middle of the row 7
{a) B by C ic) G d) I (e} Mone of these
18. Which of the following groups of friends i= sitting to the right of G? )
(a) CHDE  (b) CHDF (¢} IBJA  (d) ICHDF (e) None of these
20. Which of the following statements is true in the context of the above sitting
arrangements 7
{n) Thera are three students gitting between D and G.
ib) K is between A and J,
ict B 18 sitting between J and L
(4} G and C are neighbours sitting to the immediate nght of H.
21. In the above sitting arrangement, which of the fellowing statements is superfluous ?
ha) (F) ib) (ii) (e) Giti) (d} tiv) {e) None is superfluous
22, IfE and D, C and B, A and H and K and F interchange their positions, which
of the following pairs of students ie sitting at the ends ?

{a) I and B (Y E and F (¢} D and K

(d) K and F" (e} Mone of these

Directions {Questions 23 to 27) : Read the following information carefully
and answer the guestions given below if : (Bank P.O. 1985)

() F‘lai_qtmﬂnaE F. G H, LJ Kand L are seated around a square table —
two on each side.
fii) There are three lady members and they are not seated next to each other.
(fif) J is between L and F.
(i} G is between 1 and F.
v} H, a lady member, is second to the left of J.
{vi}) F, a male member is seated opposite E, & lady member.
(rif) There is a lady member between F and I,
28. Who among the following is seated between E and H 7

(e} F by I ch J
(e} Cannot be determined (e} None of these
24. How many persons are seatsd between K and F 7
{a) One (h) Two (e) Throe

() Cannot he detzzmmed e} None of these
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28. Who among the following are the three lady members ?

{a) E, G and J (5) E, Hand G (e) G,Hand J
(d) Cannot be determined (e) None of these
28. Who among the following is to the immediate left of F 7
a) G b1 c) d
{d) Cannot be determined (e) None of these
27. Which of the following is true about J ?
{a) J iz a male member. ib} J is a female member,
{c) Sex of J cannot be determined.  (d) Position of J cannot be determined.
{e) None of these

Directions (Questions 28-29) : On the basis of the information given below,
answer guestions 28-29, :

(&) P,Q. R, 8 and T are sitting in a circle facing the centre,

(B) R is immediate left of T.

(C} P is between 5 and T.
28. Who is to the immediate left of R ? g

{a) P ([0 ) 8 (@) T {e) Cannot be determined
28. To find the answer to the above question, which nﬁhﬂﬂlmn'ﬂatamanum

be dispensed with ?

(@) None (b)Bonly () Conly  f(d) Bor Conly () None of these
80. Six friends A, B, C, D, E and F are gitting in a elosed circle facing the centre.

A iz facing D. Cmbetwmﬁmdl?khﬁtmnEanﬂ&Whnwmm

immediate left of B 7 (1. Tax & Ceniral Excise, 1088)

(@) A (b C (GRY (d) E

Di:‘ll:ﬂulll{mﬂ'm s Read the following information carefully
and answer the questions that follow : {Bank P.0. 1885)

A B, C, ]:_1_E;nﬂﬂ_l"mmtadmnmr:]afndngthnmtm.Din'betme
nnﬂﬂ.ﬁil'nﬂdﬁthah&afDandumdmth&ﬁghtnfE.

Whn is facing A ¥

(a) B b) D e} F

() Either F or B {e) None of these
32. Who among the following is facing D ?

{a) A by C ) E

{d) Cannot be determined (e} None of these

Directions : On the basis of the information given below, answer questions
38-84. {8.B.LP.O. 1985)

Eight friends A, B, C, D, E, F, G and H are sitting in a circle facing the centre,
B is sitting between G and D. H is third to the left of B and second to the right of
A. C is sitting between A and G and B and E are not sitting opposite to each other,
33. Who is third to the left of D ?

(o) A k) E ie) F

{d} Cannot be determined (e} None of these
34. Which of the following statements is not correct ?

(@) C is third to the right of D. (b) A is sitting between C and F.
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(c) D and A are sitting opposite of each other.

id) E is sitting between F and D.

{e} E and C are sitting opposite of each other,

A group of eight members sit in a cirele, D is between A and F and is opposite
to G. E is to the right of A but on the left of C, whose right hand neighbour is
G. B enjoys having H to his left and F to his right. Find the member who is
dingonally opposite to A (Central Excisa, 1995)
(a) B b F e) G @ H

Directions (Questions 36 to 38) : Study the given information carefully

and answer the guestions that follow ; (U.T.1. 1993)

36,

{{) There are seven books one each on Payvchology, Hindi, English, Socaology,
Economies, Edueation and Accountancy, lving on a table one above the other.
(ii) Sociology is on the top of all the books.
{iii) Accountancy is immediately below Education which iz immediately below
Bociology.
{iv) Economies is immediately above Paychology but not in the middle.
() Hindi is immediately below Paychology.

Economics is between which of the following books 7 »
{a) Aceountancy and Eduecation {b) Psychology and Hindi
{c) English and Psychology {d) Psychology and Sociology

{2} None of these
Which three books are between Accountaney and Hindi #
(@) English, Economics and Psychology
(b} Economics, Psycholegy and Education
i) Economics, Psychology and Hindi
{d) Cannot be determined '
{e) None of these
If Sociclogy and English, Accountancy and Hindi and Education and Psychology inter-
mmwﬂmmbﬂﬂk\vﬂ]hﬂbﬂmm Psychology and Socology 7
{a) Accountancy (&) Paychology {e) Hindi
{d) Economics (e) None of these
In a shop, :.hnitama were arranged in a shelf consisting of six rows. Biscuits
‘are arranged above the tins of chocolates but below the rows of packets of chips,
ealtee are ot the bottom and the bottles of peppermints are below the chocolates.
The topmest row had the display of jam bottles. Where exactly are the bottles
of peppermints 7 Mention the place from the top. (Central Excise, 1808}
(a) 2nd (b) 3rd fc) 4th {d) 5th
In a pile of reading material, there are novels, story-books, dramas and comics.
Every novel has a drama next to it, every story-book has a comic next to it and
there is no story-book next to a novel. If there be a novel at the top and the
number of beoks be 40, the order of the books in the pile is ;
(@) nsed () ndsc (e} cadn (d) dncs

{Hotel Management, 1998)
Directions {Quetﬂom 41-42) : The following guestions are based on the

information given below : (8.B.LP.O. 1985)

(i} Seven books are placed one abeve the other in a particular way.
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4l.

42,

Reasoning
{ii) History book is placed exactly above Civies book.
{iii) Geography book is fourth from the bottom and English book 15 fifth from
the top.
(tr) There are two books in between Civics and Economice books.
How many books are there between Civics and Science books ? To answer this
guestion, which other extra information is required, if any, from the following 7
{a) There are two books between Geography and Science books.
(b} There are two books between Mathematics and Geography books.
ic) There is one book between English and Science books,
{d) The Civics book is before two books above Economica book
(e} No other information is mquired.
Out of the following, which three books are kept above English book 7 To answer
this question, which of the other informations, if any, is required 7
{a) The Economics book is between English and Science books.
(b} There are two books between English and History books.
ic) The Geography book is above English book.
() The Science book is placed at the top.
2} No other information is required.

. In a pile of 10 books, there are 3 of History, 3 of Hindi, 2 of Mathematics and

2 of English. Taking fram above, there is an English book between a History
and Mathematies book, @ History book between s Mathematics and an English
book, a Hindi book between an English and a Mathematics book, a Mathematics
book between two Hindi books and twoe Hindi books between a Mathematics
and a History book. Book of which subjeet is at the sixth position from the top ?
() English (b) Hindi () Mathematics (d) History

Directions (Quesfions 44 fo 48) : Read the following information carefully

and answer the questions given below it : {Bank P.0, 1991}

In a car exhibition. séven ecars of seven different companies viz. Cardilac,

Ambassador, Fiat, Maruti, Mercedes, Bediord and Farge were displaved in a row,
facing east such that .

{1} Cardilap car was to the immediate right of Fargo.

{2} Fargoe was fourth to the right of Fiat.

{3) ‘Maruti car was between Ambassador and Bedford,

(4} Fiat, which was third to the left of Ambassador ear, was at one of the ends.

Which of the following was the correct position of the Mercedes 7
{a) Immediate right of Cardilac {8} Tmmediate left of Bedford
{e) Between Bedford and Fargo id} Fourth to the right of Maruti

(gl None of these

Which of the following is definitely true 7

{ax) Fargo car is between Ambassador and Fiat.

ib) Cardilac car is to the immediate left of Mercedes.
(el Fargo is to the immediate right of Cardilac,

{d) Maruti iz fourth to the right of Mercedes.

{g] None of these
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48. Which cars are on the immediate either sides of the Cardilac car 7

41‘

{a) Ambassador and Marufi (b) Maruti and Fiat (c) Fiat and Mercedes
(d} Ambassador and Fargo (e} None of these

Which of the following is definitely true 7

{a} Maruti is to the immediate left of Ambassador,

(h) Bedford is to the immediate left of Fiat.

() Bedford is at one of the ends.

{d) Fiat is second to the right of Maruti.

(e) None of these

Which of the following groups of cars is Lo the right of the Ambassador car 7
{a) Cardilae, Fargo and Maruti (b} Maruti, Bedford and Fiat

(¢) Mercedes, Cardilac and Fargo (g} Bedford, Cardilac and Fargo
Directions (Questions 49 to 53) : Study the following information carefully

and answer the guestions given below it

All the roads of a city are either perpendicular or parallel to one another. The

roads are all straight. Roads A, B, €, D and E are parallel to one another. Roads
G HLJ K Lnndepl.rannnmaanuther

49,

5.

{i) Rmdﬁmikmautnfmdm
(ii) Road B is 1 km west of road C.
(iii) Road D is 1 km west of road E.
(iv) Road G is § km south of road H.
(v) Road I is 1 km north of road J
{vi) Road K is % km north of road L.,
{vii) Road Kis 1 'km,lﬂuﬂlﬂfmﬁﬂﬂ_
Which is necessarily true'?,
(a) E and B intersect. {(h) D is 2 km west of B.
tcll}iaai‘lmtikmwwtafﬁ. (d) M is 1.5 km north of L.
(e) T is 1 Jem north of L.
If E is between B and C, which of the following is false ?

-N!D:sﬂhwe&tufﬁ
{ﬂﬂ'mlﬂ.ﬂthan 1.6 km from D.

(¥ Distance from E to B added to distance of E to C is } km.

{d) E is less than 1 km from A.

{e) D is leas than 1 km from B.

If road E 13 between B and C, then distance between A and D is :

(@) § km (b) 1 km {€) 1.5 km (d)1.52km  (e) 225 km
Which of the following pessibilities would make two roads coincide 7

(@) L is 1 km north of 1. () C is 1 km west of D.

{e) 1 is 1 km north of K. (d) D is § km east of A.
(e) E and B are ; km apart.
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53, If K is parallel to I and K is % km south of J and 1 km north of G, which twe
roads would be ; km apart ?
@) land K () Jand G (e) I and G (didand H (2) K and J

Directions (Questions 54 to 58) : Read the following information carefully
and answer the guestions given below if ; (M.A.T. 1007)

Seven friends Kamla, Manish, Rohit, Amit, Gaurav, Pritam and Priya are sitting
in a circle. Kamla, Manish, Hohit, Amit, Pritam and Priya are sitting at equal
distanees from each other.

Rohit is sitting two places right of Pritam, who is sitting one place right of Amit.
Kamla forms an angle of 90 degrees from Gaurav and an angle of 120 degrees from
Manish. Manish is just opposite Priva and is sitting on the left of Gaurav,

B4. Who is the only person sitting between Hohit and Manish 7

(e} Pritam by Amit () Grurav (d) Kamia
BB6. Gaurav is not sifting at eqoal distances from

() Rohit and Pritam {b) Amit and Kamla

() Manish and Pritam () All of the above
58. Gaurav is sithing ... of Priya. '

{a) to the left th) to the right {c) two places right (d) None of these
67. The angle between Gaurav and Manish in the elockwise direction is

{a) 150° (b) 180° {eY 210" {d) None of these
BR. Which of the following statements is not correct T

{a) Pritam is between Manish and Kamla.

(b} Manish is two places away from Priya.

(e} Gauray is sitting opposite Pritam.

() All of the @hove

ANSWERS

1. id) : SHikha is tothe left of Resns and Manju is to her right. Rits is between Reena and
Manju. Bo, the order ia : Shikha, Reena, Rita, Manju. In the photograph, Rits will
be second from left

£. (ndz B8 to the right of D. A is to the right of B. E is to the right of A and left of C, So,
the order is : D, B, A E, C,

Clearly, A is in the middle.

8.(h): Qisleft to R and to the right of Pie P, @ R.
O ig to the right of N and left of P ie N, O, P.
8 18 to the right of R and left of T ie. R, 8, T.
So, the order is ; N, O, P. Q. R. 8, T.

Clearly. Q is in the middle:

4. d): 8 i= ditting next to P. So, the order 8, P or P, 5 is followed. K is sitting next to B
Sn,Kdm order K, K is followed bocause R is on the extreme loft. T is not next to P
ar
S0, the arrangement will he B, K, P, 8, T.

Clearly, P and T are sitting adjacent to 5.

B. (a) . Clearly, the order is : Anurndha, Rashi, Monika, Sulekha, Abha. Anuradha is adjacent
o Rashi,
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Questions 6 to 8

8 la):
7. 0d)
B (b
& (d)

Note : The boys are standing facing south. So, consider Jeft’ and ‘right’ sccordingly.
Jayesh is to the right of Alok ie J, A

Pramod is between Bhaget and Subodh 12 B, P, 8

Subodh is botween Jayesh and Pramod

8o, the sequence is :

Bhagat Pramod Suhadh Jayesh Alok
4 . i + !
L ]
L
South

Alok is at the extreme loft end.

Subadh is in the middla.

Statement (A) is superfluous.

Dison the leftof Cie C, D.

B is on the rght ol E ie. B, E

A is on the right of C ie A C.

B is on the left of Dde BB

From the shove statements, the correct ordor s : A, C, D, B, E
Clearly, D is sitting in the centre.

Note : It is given that A, B, C, D, E are sitting facing you. Sa, your right snd left
will be considened a8 left and right respectively

Questions 10 to 14

(10, (e ¢
11. {a) :
18 (e} :
18. 0 :
14. id) :
18. {2 -

18. ib) :

17. (e) :

C i to the right of D). .
D is third from south. 8a, B will be at the extreme end from north becanse it should
have E as ita neighbour. G is between E and F. Sa, the sequence is :
B -
E =
o
F = East
D -
C =
A -
G is sithing to the right of E.
A and B are witting at the oxtreme ends,
G should change place with C to make it third from north..
D is Eitting between C and F.
All the statements are required to determine the correct seguence.
Clearly, the correct sequence s
France, America, India, Australin, Japan, China.
The two flags in the centre are of India and Australia.
Clearly, C and D sit opposite to esch other. So, if A sits opposite to cook, B shall be
the cook.
Now, B is to the right of barber. 5o, one of the rest, say C will be barber. Clonrly,
then [ on the opposite side shall be washerman or tailor. But, washerman is left of
tailor and D is to the leff of A. S0, D is washerman and A is tailor. Thus, A and B
are Tailor and Cook.
Mr. X ia on the right of Mr. Y and on the left of person in the contre fe Y, X, —
Mr. P iz on the right of Mr. Z and Mr, R ia on the right of Mr. Pie Z P, R
R is second from the person sitting in the centre.
5o, the order is ¥, X, Z, P, R. Clearly, Z is sitting in the centre.
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Questions 18 to 22

D is to the left of F and second to the right of C ie. C— D F.

A is second to the right of E fe. E — A

J is the immediate neighbour of A and B and third to the left of G ie. AJB — G
H is to the left of D and third to the right of T ie. [ — H D.

The ahove four orders may be combined to obtain the correct order as under :
EKAJBILGCHDF

18, () ¢ [ is in the middls.
19.(b) : C, H, D, F are to the right of G.
20. (c) : B is sitting between J and L
21. (g) : All the statements are needed to determine the correct sequence.
22. (c) : The new sequence formed on interchanging seats is :
DLFHJCLGBAEK
D and K are sitting at the ends in the new arrangement.
Questions 23 to 27
J is between L and F ie the order is L J F.
G is between [ and F ie the order is F G L
Thus, the sequence becomes L J F G L
H is second to the leftof Jice HLJF G L
Writing the above sequence in form of & square table, we have
M = Male,
F = Female
LML G{F)
Jm FM)
Ehmtﬂﬁwﬂh?‘ ﬁmmﬁuhathnndImGluafemﬂemmher
23, (e) : Ku@il"_hdhtmeudH
24. (c) ; 'Thﬁapqhns H, L and J are seated betwoen K and F.
28, (b) : Thlﬂn‘balndymumheraure]! H and G,
28.4¢): J is to the immediate left of F.
I!.id Clearly, J is a male member.
Questions 28-29
Clearly, in the circle the arrangement is as shown :
P
s
T
Q
R
28. (b) : Q 15 to the immediate left of R.
29, {a) : All the statements are necessary.
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30. (&) : Clearly, in a cirele the arrangement is as shown,
A
C F

B E
i}
Thus. € is to the immediate left of B
Questions 31-32
Clearly, the circular arrangement 1= as shown :

C
A E
F B
D
3l.ta) : Clearly, B is facing A.
B2 {h): C is facing D
Questions 33-34
B iz between G and D i.e the ordec is G B ILH is third to the loft of B and second
to the right of A 1
8o, forming a circle we have, :

A

H v .

[}
B

C iz between A and G. But E is not opposite B.
S0, C 13 between A and H.
Thus, the final arrangement becomes :

38, (2): F i= third to the left of I, J
84, {d1: Clearly, E is not sitting between F and D,
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a8, (d}:

Clearly, in a circle the arrangement is as shown :
G
H g’

F A

H is diagonally opposite to A

Questions 38 to 38

84, ic)
37.la):

a8, (c) .

30, {d) :

40, ib) -

Sociology is on top of all books. Education is below Sociclogy. Accountancy is below

Education.

Economics is above Peychology and Psychology is above Hindi. _

Economics is not in the middle. So, in the middle lies the seventh boak t.e. English.

Thus, the sequence from top to bottom is :

Sociology, Edueation, Accountancy, English, Economics, Payehalogy, Hindi

Eruniomies is betvween English and Peychology.

Lhemﬂuw hooks between Accountancy and/Hindi — English, Economies,
e

The nﬂmmﬁmnﬁﬁuﬁplﬂhum Peyechology, Hindi,

Sociology, Economics, Education, Accountancy.

Clearly, Hindi is between Psychology and Socielogy.

Jam bottles are at the top,

Biscuits are below ghips, chocolates are below biscuits, peppermints are below

chocolates and cakes m.ﬂ. the bottom.

8o, the-sequence from top to bottom is :

Jam bottles, *Bh:p-l,iﬂ' enits, Chocolates, Peppermint, Cakes.

Clearly, ﬂlq mnﬂ is : novel, drama, story-book, comic ie ndsc.

WI.Q

AL ted s

42. (e} !

43, (b):

Llearly, the sequence of the five books mentioned, from top to bottom is :

——— History, Civica, Geography, English, Economics, ——

L"'Iearlv. ic} gives us the clue that Science book is placed at the bottom. Thus, we
know that there are three books between Civies and Science.

Clearly, History, Civies and Geography are three books kept above English. To find
this, no infoermatien other than the given ones i# required.

Starting from above, English is between History and Mathematics ie., H, E, M.
History is between Mathematics and English ie., H, E, M, H, E.

Hindi i# between English and Mathematics e, H, E. M, H. E, Hi, M_
Mathematics is between two Hindi books ie, H, E, M, H, E, Hi, M, Hi.

Two Hindi books are between Mathematics and History e, H, E, M, H, E, Hi, M,
Hi, Hi, H. Clearly, Hindi bock is at sixth position from top.

Questions 44 (o 48

We analvse the given information as follows

Arranging the cars from left to right &2 per the information, we have :
Fargo and Cardilac

Fiat, Car, Car, Car, Fargo
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Maruti between Ambassador and Bedford.
Fiat, Car, Car, Ambassador.
Knowing that Fiat lies at one of the ends, we have from left to right :
1 . 3 " . 6 7
Fiat Bedford Maruti Ambassador Fargo Cardilac | Mercedes
44. d) : Clearly, Maruti is in the third place and Mercedes in the seventh ie. Mercedes is

fourth to the right of Marnti.
Clearly, the Cardilse on the sixth place, mmmumﬂlmhﬁu{muﬂm
on the seventh place,

On either side of the Cardilac are the Farge and the Mercedes.

Clearly, Maruti in the third place, iz to the immedigte left of Ambassador, in the
fourth place.

48. (c) ; To the right of the Ambassador are the Fargo, Cardilac and Mercedes,
Questions 40 to 53 i
Clearly from statements (1) and (2), figure 1 follows; from statement (3), '_
follows; from statement (4}, figure 3 follows; and from lt-ltmml..,{i], ﬁguni
and from statements {6) and (7), figure 6 follows.

45. (b) :

44, (e) :
47. (a) :

1 14
350 | T
B C A D B
Fig. 1 - Fig. 2
- 1 rrr—
= 1 km
5 km i, 1 km K
K .'.ﬂ".' J _I km
2
A ——— ],
Fig. 3 Fig. 4 Fig. &

ﬁﬁ;’l: It fallows from figure 5 that distance of M from L = LK+ KM-%J-I-LEEm and M
L is to the novth of L.
80. () : I[ E is between B and C, we will have the following figure :

1

2ikm

1 km

i % )
D B E C A
Thus, the statement that IV is 2 km west of B is false.

Bl (d): From the figure in Q. 50, the distance betwesn A and D
= AB + ED - BE = {1+1— :'J: = 25 ie botween 1.5 o2 km.
B2. (¢} : Cloarly sesing the figure in Q. 60, we find that if E and B are 1'2 km apart, there

iz a passibility that E colncides with C.
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{e} 1 Clearly an per the information combined with figures 3 and 4. the figure is as shown.
The tws roads J and K, K and H and H and G are 172 km apart. So, the answer is
K and J.

(~ -

Questions 54 to 58

Clearly in a eircle the arrangement is as shown :

54. l¢) : Gaurav ig sitting between Rohit and Manish.
B65. (d) : Gaura¥ is not at equal distances from Rohit and hi:an ar ‘Amit and Kamla or

Maniah and Pritam.

66. () : Gaurav is three Il]whﬂ or l'uurmhﬁht qﬁﬁ!ﬂl
57. (d) : The angle between Gaurav and Manish in clockwise direction is 30°.
B68. (d) : Cloarly, all the statements follow from the dingram above.

TYPE 3 : COMPARISON TYPE QUESTIONS
In such type nfmesmm are given regarding m-mpnnmna among a set of

persons or things with respect to one or more qualities, The candidate is required
to !mn]}lh the whole information, form a proper ascending/descending sequence and
then answer the given questions accordingly.

I&Lhﬂﬁeﬁﬂm information and answer the questions given below if :

There are five friends — Sachin, Kunal, Mohit, Anuj and Rohan.
Bachin is shorter than Kunal but taller than Rohan.

Mohit is the tallest,

Anuj is a little shorter than Kunal and little taller than Bachin.

Whe i= the shortest ?

{a) Rohan (b) Bachin  {c) Anuj (d) Kunal (e} None of these
If they stand in the order of their heights, who will be in the middle ?
{a) Kunal (b) Rohan  (¢) SBachin  (d) Anuj (¢) None of these
If they stand in the order of increasing heights, who will be the second ?
(a) Anuj {b) Sachin  (c) Rdhan  (d) Kunal (&) None of these
Who is the second tallest 7 b

{a) Sachin (b) Kunal  {¢) Anuj (d) Rohan () None of these
Who is taller than Anuj but shorter than Mohit 7

(@} Kunal (b} Rohan (e} Sachin

{d) Data inadequate () None of these
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Solution : Lel us denote the five bove by the first letter of their names, namely 5, K. M. A and R

Then, R<S<K<Mand S<A<K
R<S<A<K=<M

1. (a) : Rohan is shortest.

2. (d}: Anuj ig in the middie

4. (b : In the order of increasing heights {¢. shortest to tallest, Suchin is second.
4. (b)) Hunal is second tallest.

B. (o) : Kunal is taller than Anuj but shorter than Mehit.

Ex. 2. Read the information given below and answer the gquestions that follow ;

1.

(i} There is & group of five girls.

(iiy Kamini is second in height but younger than Rupa,

(tii} Pooja is taller than Monika but younger in age.

{ir} Rupa and Monika are of the same age but Hupa is tallest between them.
(v} Neelam is taller than Pooja and elder to Rupa. {Rank P.0. 1996)

If they are arranged in the ascending order of height, who will be in third
position ?

ia) Monika (&} Rupa {c} Monika or Rupa
id) Data inadequate {e) None of these L

If they are arranged in the descending order of their ages, whe will be in fourth
position ?

ia) Monika or Rupa ib) Kamini e} Monika

id) Data inadequate i) None of these

To answer the question “whods the youngest person in the group”, which of the
given statements is superfluous 7

{a) Omly (i) (b)) Only (if) ted Only (v)

(e} Either () or {iv) fe} Mone of these

Solution : We first ﬁﬂtfulequunne of heights :

By fiii), we have : M<P.

By ), we have ;: P<N.

Nurw!_Rgﬂ,& tallest and Ramini & second in height,

So, the sequence of heighta (s 1 M<P-N-H<R

Now, we determine the age sequence :

By (i), we have : K< R.

By (i), we have : P <M,

By (i), we have : B =M.

Bv (v}, we have : R<N

8o, the sequence of ages 8 : N<R=M<K<Poar N<R=M<P<K
Clearly, in the increasing order of height, Neelam is in third position.
Hence, the answer is fe).

Clearly, in the descending order of ages, Neelam will be in fourth position (becauss Monika
and Rupa bath lie at third position).

Hence, the answer is (¢}

Clearly, only statement (§) i2 not necessary,

Henes, the answer is (o},
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| EXERCISE 6C

1. Compare the knowledge of persons X, ¥, Z, A, B and C in relation to each other :
1. X knows more than A,
2. Y knows as much as B.
3. Z knows less than C.
4. A knows more than Y.
The best knowledgeable person amongst all is : . (B.C.H.A. 1994)
(a) X f:) ] § ch A id) C

2. Five children were administered psychological tests to know their intellectual
levels. In the report, psychologists pointed out that the child A is less intelligent
than the child B. The child C is less intelligent than the child D. The child B
i less intelligent than the child C and child A is more intelligent than the child
E. Which child is the most intelligent ? (Bank P.0. 1896)
la) A i) B () D d) E {e) None of these '

8. Among five boys, Vineet is taller than Manick, but not as tall as Ravi. Jaceb is
taller than Dilip but shorter than Manick. Who is the tallest in their group ?
{a) Rawi () Manick {c) Vineet
{d) Cannot b= determined () None of these {NABARD, 1994)

4, If (i) P is tﬂlmthm{%‘{ﬂ}ﬂunhmtarthanp'{:iﬂﬂﬁmlhrthmThﬂt
shorter than Q, then w ho among them is the tallest 7 (B.S.RLB. 1895)
@P  (®)Q () 8 @T {e) Can't be determined

6. Five boys participated in a competition. Rohit was ranked lower than Sanjay.
Vikas was ranked higher than Dinesh. Kamal's rank was between Rohit and
Vikas. Who was ranked highest 7

{a) Sanjay  (b)Vikas (e) Dinesh (d) Kamal (e) None of these
6. In an examination, Raj got meore marks than Mukesh but not as many as Priya.
Priya got more marks than Gaurav and Kavita. Gaurav got less marks than
Mukesh but his marks are not the lowest in the group. Who is second in the

dﬂmm of marks ? (Bank P.O. 1987
(a) Priya (b) Kavita {c) Raj
() Cannet be determined (e) None of these

7. Ashish is heavier than Govind. Mohit is lighter than Jack. Pawan is heavier

than Jack but lighter than Govind. Who among them is the heaviest 7
(Bank P.O. 1985)

{a) Govind {(b) Jack {c) Pawan () Ashish {e) Mohit

B. Pune is bigger than Jhansi, Sitapur is bigger than Chittor. Raigarh is not as big
as Jhansi, but is bigger than Sitapur. Which is the smallest 7  (Railways, 1994)
(@) Pune (b) Jhansi (c) Sitapur {d) Chittor

9. Rohan is taller than Anand but shorter than Seema. Krishne is taller than
Pushpa but shorter than Anand. Dhiraj is taller than Krishna but shorter than
Beema. Who among them is the tallest 7 (B.5.R.B. 1988}

(a) Rohan (b) Seema {c) Krishna )
(d) Cannot be determined (e} None of these '
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Directions (Questions I10-11) : Read the following information carefully
and answer the guestions given below it : (Bank P.O. 1094)

(A} Gopal is shorter than Ashok but taller than Kunal,
(B} Navin is shorter than Kunal;
(C) Jayesh is taller than Navin;
(D) Ashok is taller than Jayesh.
10. Who among them is the tallest ?
{a) Gopal (b) Ashok (e} Kunal (d) Navin  {e) Jayesh
11. Which of the given informations is not necessary to answer the above question ?
) A BB e) C d) D {e} None of these
12. B is twice a5 old as A but twice younger than F.
C is half the age of A but twice the age of D.
Which two persons form the pair of oldest and youngest ?
{a) Fand A (b) F and D (¢) B and F
(d) F and C (e} None of these .
13. Sudhanshu is as mueh older than Kokila as he iz younger than Praveen, Nitin is
as old as Kokila. Which of the following statements is wrong 2 (Bank P.0. 1895)
(a) Kokila is younger than Praveen. (b) Nitin is younger then Praveen.
(c) Sudhanshu is older than Nitin. {d) Praveen is not the oldest.
(e) Kokila is younger than Sudhanshu. .
14. A is elder to B while C and D are elder to E who lies between A and C. If C
be elder to B, which one of the following statements is necessarily true 7

() & is elder to C (b) € is elder to D
(c) D is elder to C (d) E is elder to B
(Hotel Management, 1995)

15. Hitesh i= nnlmribnn.mmwhmh[nhan i richer than Pritam. Lalit is as rich
ag Jaya. Amit is richer than Hitesh. What conclusion can be definitely drawn
from the above statements 7 {Hotel Management, 1998; Asstt. Grade, 1095)
(a) Jaya is poorer than Pritam. (6) Mohan is richer than Amit.

() Lalit is poorer than Hitesh. (d) Pritam is richer than Lalit.
Directions (Questions 16 to 21) : Study the following information and
answer the questions given below it :
A blacksmith has five iron articles A, B, C, D and E, each having a different
weight.
(i) A weighs twice as much as B.
(ii) B weighs four and a half times as much as C.
(iti) C weighs half as much as D.
{ir) D weighs half as much as E.
(r) E weighs less than A but more than C.
18. Which of the following is the lightest in weight ?

, la}A by B (e} C dy D {e) E
17, E is lighter in weight than which of the other two articles ?
(@)A, B D C ) A, C (d)D, B (e) B, E

18. E is heavier than which of the following two articles 7
fe) D, B (D, C (el A, C id)A, B {e) None of these
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18. Which of the following articles is the heaviest in weight 7

(z) A by B ic) C ) D e E
20. Which of the following represents the descending order of weights of the
articles ?
s ABE D C b)B, D E A C icdE,C,D A B
@ C,ADBE eyA, B, D, E C

21. Which of the above given stalements is not necessary to determine the correct
order of articles according to their weights 7
(o} 1 (b 2 leh 3 d) 4 (e} &
Directions (Questions 22 to 26) : Read the following informotion and
answer the guestions given below it :
{i} Seven students P, G, R, 8, T, I and V take a series of tests.
{if) No tweo students get similar marks.
(fif)y V always scores more than P.
{iv) P always scores more than Q.
(v} Each time either R scores the highest and T gets the least, or alternatively
S scores the highest and U or Q scores the least. : i
22, If 8 is ranked sixth snd @ is ranked fifth, which of the following can be true 7
{a} V is ranked first or fourth. (b) R is ranked second or third.
ic) P is ranked second or fifth. (d) U is ranked third or fourth.
fe) T is ranked fourth or fifth.
23. If R gets most, V should be ranked not lower than :

{a) second (b} third (e fourth {d) fifth (e} sinth
24. If R is ranked secord and @ is ranked fifth, which of the following must be

true ?

(a) 8 is panked third. b) T is ranked sixth. {c) P is ranked sixth.

td) V is ranked fourth. {e) U is ranked sixth.

25, Ii s ura.rfhul lﬁ}pﬂﬁ.’whir:h of the following can be true 7
{a) U geta more than V. {h) V gets more than 8. (¢} P gets more than R
{d) P gets more than V. (¢} T gets more than Q.

28. ¥ V 18 ranked fifth, which of the following must be true 7
{a) 8 scores the highest. {6) R is ranked second. () T is ranked third.

{cf) Q is ranked fourth, (e} U scores the least.
Directions (Questions 27 to 31) : Study the information given below and
enswer the questions thaot follow : {Bank P.0, 1985)

(i) A,B,C,D, E nnd F are six students in a class,
(ti) B and C are shorter than F but heavier than A
(gii) D 18 heavier than B and taller than C.
{iv) E is shorter than D} but taller than F.
() F i5 heavier than D.
{vi) A is shorter than E but taller than F.
27. Whe among them is the tallest 7
{a) A b B el v d) E (e) None of these
28. Who is third from the top when they are arranged in descending order of height 7
{a) A by B ey ¢ (d) E ie} None of these
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